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Question Number : 1 Question Id : 48558436636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :
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Question Number : 2 Question Id : 48558436637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146545. 1
485584146546. 2
485584146547. 3
485584146548. 4

Question Number : 3 Question Id : 48558436638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146549. 1
485584146550. 2
485584146551. 3
485584146552. 4

Question Number : 4 Question Id : 48558436639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146553. 1
485584146554.2
485584146555. 3
485584146556. 4

Question Number : 5 Question Id : 48558436640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146557. 1
485584146558. 2
485584146559. 3
485584146560. 4

Question Number : 6 Question Id : 48558436641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146561. 1
485584146562. 2
485584146563. 3
485584146564. 4

Question Number : 7 Question Id : 48558436642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146565. 1
485584146566. 2
485584146567. 3
485584146568. 4

Question Number : 8 Question Id : 48558436643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584146569. 1
485584146570. 2
485584146571. 3
485584146572. 4

Question Number : 9 Question Id : 48558436644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Question Number : 10 Question Id : 48558436645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Question Number : 11 Question Id : 48558436646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Question Number : 12 Question Id : 48558436647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 13 Question Id : 48558436648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Question Number : 14 Question Id : 48558436649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 15 Question Id : 48558436650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Question Number : 16 Question Id : 48558436651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 17 Question Id : 48558436652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Question Number : 18 Question Id : 48558436653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Question Number : 19 Question Id : 48558436654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 20 Question Id : 48558436655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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Question Number : 21 Question Id : 48558436656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Question Number : 22 Question Id : 48558436657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 23 Question Id : 48558436658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 24 Question Id : 48558436659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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485584146633. 1
485584146634. 2
485584146635. 3
485584146636. 4

Question Number : 25 Question Id : 48558436660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Options :

485584146637 1
485584146638. 2
485584146639. 3
485584146640. 4

Question Number : 26 Question Id : 48558436661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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485584146641. 1
485584146642. 2
485584146643. 3
485584146644. 4

Question Number : 27 Question Id : 48558436662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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485584146645. 1
485584146646. 2
485584146647. 3
485584146648. 4

Question Number : 28 Question Id : 48558436663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Options :

485584146649. 1

485584146650. 2

485584146651. 3

485584146652. 4

Question Number : 29 Question Id : 48558436664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Options :

485584146653. 1
485584146654. 2
485584146655. 3
485584146656. 4

Question Number : 30 Question Id : 48558436665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp3
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Options :
485584146657. 1
485584146658. 2
485584146659. 3
485584146660. 4
Sub-Section Number : 4
Sub-Section Id : 4855842689
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 48558436666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584146661. 1
485584146662. 2
485584146663. 3
485584146664. 4



Question Number : 32 Question Id : 48558436667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584146665. 1
485584146666. 2
485584146667. 3
4855841466068. 4

Question Number : 33 Question Id : 48558436668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584146669. 1
485584146670. 2
485584146671. 3



485584146672. 4

Question Number : 34 Question Id : 48558436669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584146673. 1
485584146674. 2
485584146675. 3
485584146676. 4

Question Number : 35 Question Id : 48558436670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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485584146677. 1
485584146678. 2
485584146679. 3
485584146680. 4



Question Number : 36 Question Id : 48558436671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584146681. 1
485584146682. 2
485584146683. 3
485584146684. 4

Question Number : 37 Question Id : 48558436672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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485584146685. 1
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485584146687. 3
485584146688. 4

Question Number : 38 Question Id : 48558436673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584146689. 1

485584146690. 2

485584146691. 3

485584146692. 4

Question Number : 39 Question Id : 48558436674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 40 Question Id : 48558436675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584146697. 1
485584146698. 2
485584146699. 3
485584146700. 4

Question Number : 41 Question Id : 48558436676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




NPT - JPpG: < Ve AR SO <1, - LN
D=3 T E:ﬁlaa .ﬁE a3$ =] -u—\.e;, ""'llll

LIST L LIsI 10
A, I;-:.rz_'r L F]
B. fron i
o — il
[, 223 IV 45

Choose the correct answer from the options given below:

==

. A-IV, B-1, C-1I, D-III
2. A-L, B-IV, C-1I, D-II1

fad

. A-II, B-IV, C-III, D-I
4. A-IIL. B-IV. C-L. D-1I

Options :

485584146701. 1
485584146702. 2
485584146703. 3
485584146704. 4

Question Number : 42 Question Id : 48558436677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




LIST 1 LIST 1L

F-E-\-i-1 il J[] o == -n-r'\-s:\-—.'—i'-r

A
3 I TR r——
i
B

_l.;'::a:.__‘i:—-':_':: IV, ppmso=s

Choose the correct answer from the options given below:

==

. A-IV, B-1I, C-I, D-III
2. A-L, B-IV, C-1I, D-II1

fad

CA-IILL B-IV, C-11, D-1
4. A-IV, B-III. C-L. D-II

Options :

485584146705. 1
485584146706. 2
485584146707. 3
485584146708. 4

Question Number : 43 Question Id : 48558436678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




NPT - JPpG: < Ve AR SO <1, - LN
D=3 T E:ﬁlaa .ﬁE a3$ =] -u—\.e;, ""'llll

LIST 1 LISTII
r7 T Pt
B =g L iy
=
D. Fraraesery IV F

Choose the correct answer from the options given below:

==

. A-IV, B-1I1, C-1, D-11
2. A-L, B-IV, C-1I, D-II1

fad

A-IIL B-I1, C-IV, D-1
4. A-IIL. B-IV. C-L. D-1I

Options :

485584146709. 1
485584146710. 2
485584146711. 3
485584146712. 4

Question Number : 44 Question Id : 48558436679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




NPT - JPpG: < Ve AR SO <1, - LN
D=3 T E:ﬁlaa .ﬁﬁ- a?$ =] -u—\.e;, ."ll

oL L | -

LIST L LIl 10
A l;,_:g-:;r L =3
E. =i IL W=
L F— Tl -
D. fasgei IV pmargs

Choose the correct answer from the options given below:

==

. A-IV, B-1, C-1I, D-III
2. A-IIL B-1V., C-I1, D-1

fad

. A-II, B-IV, C-III, D-I
4. A-I, B-IV. C-II, D-III

Options :

485584146713. 1
485584146714. 2
485584146715. 3
485584146716. 4

Question Number : 45 Question Id : 48558436680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




LIST 1 LIST 11
A, Ig'w Chke L =T
E. =7 II. =
C. Bos 111 ryes
D = TV ==

Choose the correct answer from the options given below:

==

CA-ITLL B-IV, C-1, D-11
2. A-L, B-111, C-II, D-IV

fad

CA-IL B-1, C-IV, D-II1
4. A-IV, B-IL C-[, D-III

Options :

485584146717. 1
485584146718.2
485584146719. 3
485584146720. 4

Question Number : 46 Question Id : 48558436681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




LIST1 LIST I
A FE=y L I;& RragE
B. fr=e II. fem-=prer=
S - TH, foesiiopa
T IR LT} | a:r:'-a-.

Choose the correct answer from the options given below:

==

. A-IV, B-1I, C-I, D-III
2. A-II, B-1I1, C-I, D-IV

fad

CA-L B-II1, -1V, D-I1
4. A-IIL. B-IL, C-IV, D-1I

Options :

485584146721. 1
485584146722.2
485584146723. 3
485584146724. 4

Question Number : 47 Question Id : 48558436682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




LIST 1 LIST I
A, praaget [ e
E. s IL. w=es
C, k== 11 fe=per
D. =z IV

Choose the correct answer from the options given below:

==

. A-1L B-1V, C-I1, D-II1
2. A-IV, B-1, C-1I, D-II1

fad

CA-IILL B-IV, C-11, D-1
4. A-II, B-III, C-I, D-IV

Options :

485584146725. 1
485584146726. 2
485584146727. 3
485584146728. 4

Question Number : 48 Question Id : 48558436683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




LIST I LIST II
B b I K¥y
B = 1. ==
C, fr=me I =
i) IV E

Choose the correct answer from the options given below:

==

. A-L B-IV, C-II, D-III
2. A-L, B-111, C-II, D-IV

fad

CA-IV, B-11, C-II1, D-1
4. A-II, B-III, C-I, D-IV

Options :

485584146729. 1
485584146730. 2
485584146731. 3
485584146732. 4

Question Number : 49 Question Id : 48558436684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:

l. A-I, B-III, C-II, D-IV
2. A-1V, B-1I1, C-11, D-1
3. A-IIIL, B-II, C-IV, D-1
4. A-IL, B-1, C-III, D-IV

Options :

485584146733. 1
485584146734.2
485584146735. 3
485584146736. 4

Question Number : 50 Question Id : 48558436685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:

1. A-1, B-II1. C-II. D-1IV
2. A-IV, B-1I1, C-1. D-I1
A, A-IL B-1L C-11. D-IV
4. A-IV, B-1I1, C-1. D-II

Options :

485584146737. 1

485584146738. 2

485584146739.3
485584146740. 4
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Biology
Section Id : 485584946
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 48558436386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Munber of chromosomes found wm rice smnete 15
1. B
2. 10
3. 12
4. 14

Options :

485584145541. 1
485584145542.2
485584145543. 3
485584145544. 4

Question Number : 52 Question Id : 48558436387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match List T wath Last 11

LIST 1 LIST 11
(Vegetathve propagules) (Example)
A |Laaf buds I [Water hyacinth
B. [Bhizome I ligane
[ s T (Il }inger
[ |Bulbal IV, Bryophy i

Chocse the carect answer fram the options given helew
L. A-IIL, B-1W, C-I1, D-1
2, AIL BTV, C-L D-IT
3 ATV BIL C-L D-TI
4, A-IL B-IL C-TV, D]

Options :

485584145545. 1
485584145546. 2
485584145547. 3
485584145548. 4

Question Number : 53 Question Id : 48558436388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Feesidual and persistent nucellus present in some seeds 15 called:
1. Seed coat

2. Pencarp

i. Perisperm

4, Achens

Options :

485584145549. 1
485584145550. 2
485584145551. 3
485584145552. 4

Question Number : 54 Question Id : 48558436389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

The wall layer wiuch provides nourishment to the developing pollen zrams 15 called:
1. Epidenmus
2. Endothecmun
3. Middle Layer
4, Tapstum

Options :

485584145553. 1
485584145554. 2
485584145555. 3
485584145556. 4

Question Number : 55 Question Id : 48558436390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Spermuation 15 the

1. Process of releass of sperms from the semmuterous tubules

2. Procesa of formation of sperms

LR

Tramsformanon of spermatids mto sperms
4. Process ot tormation of spermatogoma

Options :

485584145557. 1
485584145558. 2
485584145559. 3
485584145560. 4

Question Number : 56 Question Id : 48558436391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following homones are secreted by placenta?

A hCG

B. hPL

3 E'-qtl-:‘:-'__-rﬂ 15

D). Progestogens
E. Relaxin

Choose the correet answer from the options miven below:
1. A, B. and E only
2 A B CandE onky
3. A.B. D and E only
4. A B. C and I only

Options :

485584145561. 1
485584145562. 2
485584145563. 3
485584145564. 4

Question Number : 57 Question Id : 48558436392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following discase is completely curable if detected carly?

1. Gemial berpes

-'

2. HIV mf=ctions

=]

. Hepatitiz-B

1. Trichomomass

Options :

485584145565. 1
485584145566. 2
485584145567. 3
485584145568. 4

Question Number : 58 Question Id : 48558436393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Tedentify the terminal methods to prevent preenancy.

A, Tubectony
B, Vasectony
C. IUDs

D), Cervical caps

Choose the cormreet answer from the options given below:
1. Aand I only
2. Aand C only
3. B oand DD enly

4. Asnd B only

Options :

485584145569. 1
485584145570. 2
485584145571. 3
485584145572. 4

Question Number : 59 Question Id : 48558436394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The person with karyvotype 44+ XXY 15 suffermg from:

1. Down's Syadroms

-

2. Klinefelter's Syndrome
3, Turner's Syndrome
4. Edward's Syndrome

Options :

485584145573. 1
485584145574. 2
4855841455753
485584145576. 4

Question Number : 60 Question Id : 48558436395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the mendehan dirorders from the followme:

A, Thalassemia
B. Tumnsr's Syndroms
C. Cystic Fibrosis

D, Sickle cell anaemua
Choese the correct answer from the option s given below:

1. B and D only
2. A.Cand D only
3. B.Cand D only

4. A and D only

Options :

485584145577. 1
485584145578. 2
485584145579. 3
485584145580. 4

Question Number : 61 Question Id : 48558436396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with Last 11

LIST I LIST 11
i Ej—lL:;Lut}'pt reflects the contmbution of sach Dleiotropy
. Dulultiple phenonypic exprassions by a I [Lenkaze

" kingls gene

Kaenaration of fon-parenial gene Palygamnic
combanations ' |inhentance
arental gene combnations haghar than
roti-patetial rvpe i Fo progeny

.

B}

IV [Bacombination

Choose the correct answer from the options given below:
1. A-IIL B-I, C-IV, D-II
2 A-LB-IV, C-IL D-II0
A AW BTV, C.L DI
4, A-I. B-III, C-II. D-TV

Options :
485584145581. 1



485584145582. 2
485584145583.3
485584145584. 4

Question Number : 62 Question Id : 48558436397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Pomt mutations means:
1. Changs 1n one base pair
2. Change in one allele
3. Change of base pair at a loeation without aoy significonce
4, Addition or deletion of codone wn multiple of three at a pomnt

Options :

485584145585. 1
485584145586. 2
485584145587. 3
485584145588. 4

Question Number : 63 Question Id : 48558436398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a stop coden?
1. UAC
2. TTAG
5. 0AD0

1, AlUG

Options :

485584145589. 1
485584145590. 2
485584145591. 3
485584145592. 4

Question Number : 64 Question Id : 48558436399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Match List T with Last 11

LIST 1 LIST 1
(Codes) (Codes for)
A oo I [Phemvalamine
B. F.L'c'r 1. [liteator codo
CoUAA 11 [Termmarar codan
D_jaun IV, [Valine

Choose the carrect answer from the options given below:
1. A-I, B-II, C-II1, D-IV
2. A-Il B-L CAIIL D-IV
AL B-IL C-IN DI
4, A-IIL B-IV, C-I, D-II

Options :

485584145593. 1
485584145594. 2
485584145595. 3
485584145596. 4

Question Number : 65 Question Id : 48558436400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Multiple additions of new genes or alleles to the new populatien and thear loss from the old population of a
particular place due to migmil-:-u 15 lenoom as:

1. Gene How

2, Genetic drift

3. Mutation

4, Hotmal selechion
Options :
485584145597. 1
485584145598. 2

485584145599. 3
485584145600. 4



Question Number : 66 Question Id : 48558436401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Australian marsopials show the phenomena of:
1. Convergent evolution

2. Adaphrve radiation

LE =]

. lzolation

4, Saltation

Options :

485584145601. 1
485584145602. 2
485584145603. 3
485584145604. 4

Question Number : 67 Question Id : 48558436402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Iedentify the examples of evolution cavsed dus fo anthropozenic actions:
A, Bacillug thuringiensis and Lepsdopterans
B. Industrial mslanimm m moths

C. Resistant microbes against antibiotics
D). Pesticides and msects

Choose the comreet answer from the options given below:
1. A. B and C only
2. A, B and D only
3. B C and D ondy
4. A, Cand D Owly

Options :

485584145605. 1
485584145606. 2
485584145607. 3
485584145608. 4



Question Number : 68 Question Id : 48558436403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The presence of which disease 18 confirmed by Widal Test?

1. Malara

-

2. Poemmnoma

1]

. Twpheosd

4, AIDS

Options :

485584145609. 1
485584145610. 2
485584145611. 3
485584145612. 4

Question Number : 69 Question Id : 48558436404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arvangs the stazes of HIV fection m humans sequentially.

A, Intreduchion of vital DNA m the cell

B. Produchion of muliiple viuses

C, Infection of human cell by virus

D, Incorparation of siral DINA mto host genome

Choose the comrect answer from the options given below:
l.AB.D.C
2.CADB
3. DABC

4. B.A.D,C

Options :

485584145613. 1
485584145614. 2
485584145615. 3
485584145616. 4



Question Number : 70 Question Id : 48558436405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Miatels List I watl Last 11

LIST | LIST I
Cauvsal organism Dhizeage
A (s hovaria Sarern i L |[Rimgwars
B. W frrosnorim 1. [Elephantiasis
| C. [Entaricsba hisolitica [ [*alariz
D. {Plasmadizm vivax I% |Amochiass

Choose the correct answer from the options given below:
1. A-II. B-I, C-=I'V, DuIII
2. A-L B-IL CAIIIL D-IV
30 A-IVOBAHIL C-IL DAl
4, A-I, B-II, C-TV, D-III

Options :

485584145617. 1
485584145618. 2
485584145619. 3
485584145620. 4

Question Number : 71 Question Id : 48558436406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Homozvgosity 15 achieved through :
1. Becombmant DNA technology

2. Vaeenation

3. Inbreading

4. Hybridoma technology
Options :
485584145621. 1
485584145622.2

485584145623. 3
485584145624. 4



Question Number : 72 Question Id : 48558436407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the steps involved i breeding a crop for a new genetic varisty i scquence.

A. Selection and testing of supenor recombinants

B. Evaluation and sclection of parents

C. Collection of variability

D. Testing release and commerciabisabion of new cultivars
E. Cross hybridization among selected parents

Choose the correct answer from the options grren below:
LA—=C—=B—=E—D
aB—-=D—-AC—=E
IC—=B—=E—-A_D

. D—=B—A—=E—C

Options :

485584145625. 1
485584145626. 2
485584145627. 3
485584145628. 4

Question Number : 73 Question Id : 48558436408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Matel List T watls Last 1T

LIST 1 LIST 0
A o imdica T_Tl'm:r_'."in.-g
E. |Caia TL. Poulirs
. [Leghom I Pishecies
D. Persey IV. [Bee-keping

Choose the comect answer from the options given below:
L. AL B-IL CII0L DT
2 AT B-1CAITLL D-TV
AV BAIIL C-I0 T
4., A-ITL, B-1W, C-], D-II

Options :

485584145629. 1
485584145630. 2
485584145631. 3
485584145632. 4

Question Number : 74 Question Id : 48558436409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the followmng microbe serves as an important iofertiliser in paddy field?
1. Cyanobacterin
.

2. Rhizobium

. Mycorrhiza

T

4, Bacillus thuringiensis

Options :

485584145633. 1
485584145634. 2
485584145635. 3
485584145636. 4

Question Number : 75 Question Id : 48558436410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the comect statements wath respect to nucrobes.

A, "Toddy" the traditional drink obtamed by fermenting sap of Palm tree.

B, Swiss cheese's large holes are duc to achivity of Saccharomyces corevisas,
C. Penicillin™ was discovered by Alexander Fleming.

D. The Cyclosporm A 13 prodused by Trichoderma polizparum,

Choose the the correct auswer from the options given below:
1. A, Band D only
2. Aand B only
3. A C, and D only

4, C and D only

Options :

485584145637. 1
485584145638. 2
485584145639. 3
485584145640. 4

Question Number : 76 Question Id : 48558436411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Miatcls List T watls Last 11

LIST 1 LIST I
Orrganisem Product
A Srrentosooris I |Citric acad
B. ldspermillis wigar Il. |Streptolingse
| C. WMonascus purpursus 1 |Ethanal
D Vsaccharowmices cerevisiae I% |Stmtm

Choose the correct answer from the optiona given below:

1. A-IL B-l, C-IV, D-II1
2. A-L B-IL CIL D-IV
A AL B-LC-IL D-TV
4, A-IIL B-IV, C-I, D-II

Options :

485584145641. 1

485584145642. 2

485584145643.3
485584145644. 4



Question Number : 77 Question Id : 48558436412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 15 not a part of downstream processing?
1. Separation

2. Purification

3. Quality control

4, Biosynthesis

Options :

485584145645. 1
485584145646. 2
485584145647. 3
485584145648. 4

Question Number : 78 Question Id : 48558436413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Whicl was the first vestiiction endomneleases discovered?
1. Ecoflf

2 BamHT

L]

. Hind I

4. Psid

Options :

485584145649. 1
485584145650. 2
485584145651. 3
485584145652. 4

Question Number : 79 Question Id : 48558436414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The correct sequence of steps to obtan gene of mterest from pool of DINA 15

A, Cutting of DNA using restiiction endonneleass,

B. Viewing the efludnum bromide stamed gel under UV light

C. Loading of DINA in wells,

D. Cutting and extraction of DNA piese from gel

E. Separation of DNA frapments according to their molecular size.

Choose the correct answer from the options grven below:
1. AC.E.B.D

2A.DC B.E

L)

CEEDLB.CA
1. D.E.C.A. B

Options :

485584145653 1
485584145654. 2
485584145655. 3
485584145656. 4

Question Number : 80 Question Id : 48558436415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Over 95% of all existing fransgeme animals are:

1. Mice

| ]

Croat

. Rabbn

T

4. Pig

Options :

485584145657. 1
485584145658. 2
485584145659. 3
485584145660. 4

Question Number : 81 Question Id : 48558436416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension IMCQ

A novel strategy to prevent infestation of roots of tobacco plant with the nematode Meloidemyne incogritia 15 :
1. DN A intertzrznce
2. DNA-BEMNA mterference
3, RNA mterference

4, ENA-Protemn inferterence

Options :

485584145661. 1
485584145662. 2
485584145663. 3
4855841456064. 4

Question Number : 82 Question Id : 48558436417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with Last 11

LIST 1 LIST Il

A ETE'"Z:'M [ [Svotheric Human aulin
| phucingiesis T

B. Herebacierium [l [ADA geoe therapy

o E Cali [Il, [Crv zene

L o - |Wector carrving nematode-specific
L. twovizal Vector | IV
geacs

Choose the comrect answer from the options given below:
1 AL B-IN, C-I, D-I1
2 AL B-1, C-IIL D-IV
3 AL BCIL IV DI
4, A-IV, B-II, C-I, DkITI
Options :
485584145665. 1
485584145666. 2

485584145667. 3
485584145668. 4

Question Number : 83 Question Id : 48558436418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Identify the commensahsmn from the following associations:

1. Fungs and roofs of lngher plents.

| ]

Cuckoa and erow dunng breeding season

[T

. Fig species and wasp
3, Sea ancmons and clown fish

Options :

485584145669. 1
485584145670. 2
485584145671. 3
485584145672. 4

Question Number : 84 Question Id : 48558436419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Seleet the orpamsms that can tolevate wide range of temperatures:

L. Eurvibiermaals

[

Stenothermals

Confoiimers

LT F]

4. Demorsgulators

Options :

485584145673. 1
485584145674. 2
485584145675. 3
485584145676. 4

Question Number : 85 Question Id : 48558436420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The rate of decomposition 15 controlled by:
1. Chemical composition of detrtus only
2. Climatic factors only
3. Both chenucal composition of detrius and chimatie foctors
4. Atmospheric pressure

Options :

485584145677. 1
485584145678. 2
485584145679. 3
485584145680. 4

Question Number : 86 Question Id : 48558436421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Net Primary Productivity (NPP) 1s .

1. Gross Pnmary Productinvity — Respuration lozses

| )

Gross Primary Produetivity + Reapiration losses

. Gioss Prmary Produetivity * Respiration losses

T

4. Bespnation losses — Gross Prunary Produethivity

Options :

485584145681. 1
485584145682. 2
485584145683. 3
485584145684. 4

Question Number : 87 Question Id : 48558436422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following country has the highest hiodiversity?

1. Brazil

| ]

. Zmmbahlwe

L]

. Buzzia
4, Incia

Options :

485584145685. 1
485584145686. 2
485584145687. 3
485584145688. 4

Question Number : 88 Question Id : 48558436423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the followmgz species has become extmnet due to over explostation by hunans?
1. Clarias gaviepinus

2. Stellera's =en cow

3. Lantana

4, Parthenivm

Options :

485584145689. 1
485584145690. 2
485584145691. 3
485584145692. 4

Question Number : 89 Question Id : 48558436424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Salts are drawn to the surface of the sm) by:
1. Ohver cultrvabion

2. Deforestation

LA ¥]

Water loppmne
4, Unresincted grazing

Options :

485584145693. 1
485584145694. 2
485584145695. 3
485584145696. 4

Question Number : 90 Question Id : 48558436425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

World's most prollematic aquatic weed is;
1. Free floating algae

2. Fallisneria

i, Eichharnia craszipes
4, Chara
Options :

485584145697. 1
485584145698. 2
485584145699. 3
485584145700. 4

Sub-Section Number : 2
Sub-Section Id : 4855842691
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 91 Question Id : 48558436426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




Read the given paragraph and answer the guestion:

Humnans have 23 pairs of chromosomes, 22 pairs are exactly same in both males and females: these are the
autcsomes. & pair of X-chromosome are pressnt m the female. whereas the presence of an X and Y
chromosome are determinant of the male characteristic

A nimber of dizorders m buman bemes have been found to be associated with the mhentance of changad or

sltered genes or chromosomes. Broadly, genetic disorder may be grouped into two categones-hMendelian
disorders and Chromosomal disorders.

What 15 the probalbality of having a davnehter to a couple expecting their first cluld?
1. Nil

2. 25%
3. 50%

4, 100%%

Options :

485584145701. 1
485584145702. 2
485584145703. 3
485584145704. 4

Question Number : 92 Question Id : 48558436427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the given paragraph and answer the guestion:

Hunans have 23 pairs of chromosomes: 22 pairs are exactly same in both males and females: these are the
sutosomes. A patr of X-chromosome are presant i the female. whereas the presence of an X and ¥
chromosome are determinant of the male characteristic

A nimber of dizorders m buman bemes have been found to be associated with the mhentance of changad or
sltered genes or chromosomes. Broadly, genetic disorder may be grouped into two categones-hMendelian
disorders and Chromosemal disorders.




A disorder cansed due to absence of one of the "X clromosome s -

1. Turner's Syndrome

| ]

. Dowm's Symdrome

LTe]

. Khinefelter's Syndrome

oy

. Thalassenua

Options :

485584145705. 1
485584145706. 2
485584145707. 3
485584145708. 4

Question Number : 93 Question Id : 48558436428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the given paragraph and answer the guestion:

Humnans have 23 pairs of chromosomes: 22 pairs are exactly same in both males and females: these are the
sutosomes. A patr of X-chromosome are presant m the female. whereas the presence of an X and ¥
chromosome are determinant of the male characteristic

A nimber of dizorders m buman bemes have been found to be associated with the mherntance of changad or
sltered genes or chromosomes. Broadly, genetic disorder may be grouped into two categones-hMendelian
disorders and Chromosemal disorders.

A haemophilic man marnes a normal woman. What 1s the posstbility that theiw child have baemophiha?
1. 75%

=gy« ]

2. 25%
'a. ':]I:l"'.l

4, 50%

Options :

485584145709.
485584145710.
485584145711.
485584145712.

AW N =

Question Number : 94 Question Id : 48558436429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Compl

Read the given paragraph and answer the guestion:

Humans have 23 pairs of chromosomes. 22 pairs are exactly same in both males and females: these are the
sutosomes. A pair of X-chromosome are present m the female. whereas the presence of an X and ¥
chromosome are determinant of the male characteristic

A nummber of dizorders 11 buman bemes have been found te be associated with the mhentance of changad or

sltered genes or chromosomes. Broadly, genetic disorder may be grouped into two categoies-hMendelian
disorders and Clremosomal disorders.

Which of the following 1s an example of a sex hnked discase?

1. Ascanasns

| )

. Colotr blindness

. Thalasseirin

L

4. Phenylketonuria

Options :

485584145713. 1
485584145714.2
485584145715. 3
485584145716. 4

Question Number : 95 Question Id : 48558436430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the given paragraph and answer the guestion:

Hunans have 23 pairs of chromosomes: 22 pairs are exactly same in both males and females: these are the
mtosomes. A pair of X-chromosome are presant i the female. whereas the presence of an X and ¥
chromosome are determinant of the male characteristic

A nimber of disorders m liman bemes have been found to be associated with the mherntance of changed or
sltered genes or chromosomes. Broadly, genetic disorder may be grouped into two categonies-hMendelian
disorders and Chromosomal disorders.



A colov bluwd man manes a carvier woinan, Choose the possible progeny outcome.
1. All sons are born colourblind, winle 50%% the daughter born vwall be normal.
2. All children {sons and daughters) are bom colour blind
3. All demehrers are normal whereas 50% of the sons bom wall be colowr blind.

4. 50% of dauglters and 50% of sons bom will be celour blind,

Options :

485584145717. 1
485584145718. 2
485584145719. 3
485584145720. 4

Sub-Section Number : 3
Sub-Section Id : 4855842692
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 96 Question Id : 48558436431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Answer the questions from the fipure grven below:
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If the reaction starts with one molecule of DNAL the number of cyeles required to produce one billion
smplified products 1s;

1. & eycles
2. 16 cycles
3. 30 cveles
4. 25 cveles
Options :
485584145721. 1
485584145722. 2

485584145723. 3
485584145724. 4

Question Number : 97 Question Id : 48558436432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Answer the questions from the fipure given below:
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T Tog polyimerase stainds for:
1. Thermal agua

2. Thevmal aguaticnus

T

. Thermas agea
4. Thermus aguaticus

Options :

485584145725. 1
485584145726. 2
485584145727. 3
485584145728. 4

Question Number : 98 Question Id : 48558436433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2

Answer the questions from the fignre given below:
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Tag polymerase is the preferred DNA polymerase in PCR becanse
1. It is obtained from a fast breeding bacteria.
2_ It can band with the primers efficiently.
3. Tt remmns active during Ingh temperature,
4. Tt has kigh tummeover rate.

Options :

485584145729. 1
485584145730. 2
485584145731. 3
485584145732. 4

Question Number : 99 Question Id : 48558436434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2

Answer the questions from the fignre given below:
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The step T in the figuee depicts:
1. Begion where the restniction enzyme cuts.
2. An important gene of intereat
3. Promer poming region
4. Ouly amplified produst

Options :

485584145733. 1
485584145734.2
485584145735. 3
485584145736. 4

Question Number : 100 Question Id : 48558436435 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Answer the questions from the fignre given below:
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The step 'B' in the fignre s called as:
1. Termmnation

2. Extension

T

. Annealing
4. RBeannealng

Options :

485584145737. 1
485584145738. 2
485584145739. 3
485584145740. 4

Business Studies

Group Number : 3

Group Id : 485584823
Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Business Studies

Section Id : 485584947
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842693
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 101 Question Id : 48558436436 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value



IComprehension IMCQ

Which of the following 15 not an myportances of management 7
1. Managemsnt 15 group activity
2. Management creates a dynanuc organization

. Mimagement helps i the development of soeaty

T

4, Management increasss ethiciency

Options :

485584145741. 1
485584145742.2
485584145743. 3
485584145744. 4

Question Number : 102 Question Id : 48558436437 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Me.Donalds, the fast food miant made major chanees m its menn to be able to swrvrve w Indian market.
Which feature of management is reflected in above case 7

1. Management is an intangible force
2. Manasement 15 a dynamsc function
3. Monageinent 15 all parvasive

4. Management 1s multidimensional

Options :

485584145745. 1
485584145746. 2
485584145747. 3
485584145748. 4

Question Number : 103 Question Id : 48558436438 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




"Planmmg 15 an Actrvrty wlich enables a manager to look ahead and anticipate changes.” Tdemntify the powt of
Imporiancs of Planmng,

1. Planning rednces the risk of nncertainty

2. Flanning facilitates decision making

L

. Planming establishes stamdards for controlhng

L

. Planming provids directions

Options :

485584145749. 1
485584145750. 2
485584145751. 3
485584145752. 4

Question Number : 104 Question Id : 48558436439 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Favi 15 workme as supervisor with Zine limrted. Identify the level of management at whach Bavi 12 emoployed.
1. Top Management
2. Middle Management
3. Operahional Manngement
4, Apex Managsment

Options :

485584145753. 1
485584145754. 2
485584145755 3
485584145756. 4

Question Number : 105 Question Id : 48558436440 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In this type of Orgamzational struchure, the cost may increase since there may be a dupheation of activities
peroas prodoucts. I:l:n'rli"r-. the orgamezationsl structure

1. Funetional Structars
2. Delegated Structure
3. Drasional Struchus

4. Informal Stroctures

Options :

485584145757 1
485584145758.2
485584145759. 3
485584145760. 4

Question Number : 106 Question Id : 48558436441 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Divistonal Stocture 15 based oo

1. Product Lines

| B

. Funeticnal Lines

. Informal Basis

T

4. Ogeupationel Speciahzation

Options :

4855841457061. 1
485584145762.2
485584145763. 3
485584145764. 4

Question Number : 107 Question Id : 48558436442 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




can be delegated.
L. Responsibality
2. Authority
3. Accountability
4. Answerabihity

Options :

485584145765. 1
485584145766. 2
485584145767. 3
485584145768. 4

Question Number : 108 Question Id : 48558436443 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Test 15 2 measure of mdividuals potential for learning new skalls.,
L. Trade tests
2. Peraonality tests
3. Aptitude tests
4. Intelligencs tests

Options :

485584145769. 1
485584145770. 2
485584145771. 3
485584145772. 4

Question Number : 109 Question Id : 48558436444 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




"Wany reputed onzamzations keep a database of uwnsolicited apphications i thewr offices based on which a list
of job-seckers can be prepared and can be scieened to fill the vacancics as they anse”. Identily the source
referred of recruitment above.

1. Dvrect Becrmtment

. Campus Recnutment

| o]

3. Labonw Contractors

4, Casual Callers

Options :

485584145773. 1
485584145774. 2
485584145775.3
485584145776. 4

Question Number : 110 Question Id : 48558436445 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

It mvolves shufting of an employee from one yob fo another, one department to another or from one shaft to
snother, without a substantive change in the responsibilitics and status of an employec. It 1s known as ;

1. Tramning
2. Tramsfer

. Prommotion

Lad

4. Development

Options :

485584145777. 1
485584145778. 2
485584145779. 3
485584145780. 4

Question Number : 111 Question Id : 48558436446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Owgamzational barriers o commmugueation do not nclude
1. Bules and regulations

. Status

3. Ongamzational Policy

4, Lack of attention

Options :

485584145781. 1
485584145782.2
485584145783. 3
485584145784. 4

Question Number : 112 Question Id : 48558436447 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

means gving more antonomy and power to subordimtes, This fesling contributes positively to the
use of skills and talents m the job performance.

1. Emplovee Recognition Programme

| BN

Emplovee Empowerment

Status

s

4. Job Secunty

Options :

485584145785. 1
485584145786. 2
485584145787. 3
485584145788. 4

Question Number : 113 Question Id : 48558436448 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which tvpe of leader does not believe in the wse of power unless 1t is absolmiely essenfial 7

1. Free=rem / Laissez taire leadex

I3

. Democratie leader
3, Autoeratie leades
4. Participatrve leader

Options :

485584145789. 1
485584145790. 2
485584145791. 3
485584145792. 4

Question Number : 114 Question Id : 48558436449 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The incentrve 15 offered over and above the wages/salary to the cmployees 15
1. Project Sharmng
2. Pay or Allowances
3. Perquuartes

1, Bonns

Options :

485584145793. 1
485584145794. 2
485584145795. 3
485584145796. 4

Question Number : 115 Question Id : 48558436450 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ashok went to a shop to buy a tooth paste. The shopkeeper showed i different vanties of toothpaste
svatlable in his shop. Ashok took one ot them but had an allergy ntter uamg 1t He later on checked that the
product had crossed its expiry date, Which responsibality has Ashok jgnored as a customer?

1. Bead labels carctully for mformation such as net weight, prics. expury date ste.
2. Assert that yon get a fair deal

3. Ask for a cash memo

4. Avord waste, littening and contributing to pollution

Options :

485584145797. 1
485584145798. 2
485584145799. 3
485584145800. 4

Question Number : 116 Question Id : 48558436451 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

It 15 moandatory for the manufaciunres to provade wformation such ag ingredients, date of manufacture, price,
directions for use, pries ste. The consumer nght lughhighted here 5=-

1. Raght to safety

2. Rizht to be informed

3. Baght to be heard

4. Rught to Conswroer Education

Options :

485584145801. 1
485584145802. 2
485584145803. 3
485584145804. 4

Question Number : 117 Question Id : 48558436452 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Net working capatal 1s eomputed as
L. Gross curzent assets
2. Gross cwrent assets - total debt
3. Carent assets - External debe

4. Crrvent assets - Corrent liabalities

Options :

485584145805. 1
485584145806. 2
485584145807. 3
485584145808. 4

Question Number : 118 Question Id : 48558436453 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

of a company affects both the profitability and the financial sk,
L. Working Capital

2. Caputal Structurs

[

Fixed Capital

i

Dividend decision

Options :

485584145809. 1
485584145810. 2
485584145811. 3
485584145812. 4

Question Number : 119 Question Id : 48558436454 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Telentify the decasion i wlich a company has to choose where to vest its resowrces so that it 1s able to carn
the maximum possible return for their imvestors

1. Workmg capital decizion

[ ]

. Funanemg decision

. Dvidend decision

()

L

. Investment decision

Options :

485584145813. 1
485584145814.2
485584145815. 3
485584145816. 4

Question Number : 120 Question Id : 48558436455 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the term that wdicates Principles of Manazement are not rigid prescnptions,
1. Hunan behaviour
2. Mamly behaviour
3. Contingent
4, Flexible

Options :

485584145817. 1
485584145818. 2
485584145819. 3
485584145820. 4

Question Number : 121 Question Id : 48558436456 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




" People and materials must be o satable places at appropriate tame for maximum effeciency.’
Apphention of this prinesple wall lead ta:
1. Hmdranes 1 the actnatics of business Tactory

2. Increased productrvity and efheiency

R

. Mo disermunation aganst anyone
4. Justice and kandlinesy i the behaviour of managers.

Options :

485584145821. 1
485584145822.2
485584145823. 3
485584145824. 4

Question Number : 122 Question Id : 48558436457 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I11 the primciple of Sealar Chan, the shortest route for communication in ¢ase of emerzency 15 called:
1. Gang Plank

2. Special route

3. Formal ronte

1, Pintocal

Options :

485584145825. 1
485584145826. 2
485584145827. 3
485584145828. 4

Question Number : 123 Question Id : 48558436458 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




If any party 15 not satisfied by the order of District Commussion, then appeal azast such order can be made to
state commussion within & peried of days from the date of order.

1. Forty five

. Tharty

| 24 ]

Lad

Sty
4. Forty

Options :

485584145829. 1
485584145830. 2
485584145831. 3
485584145832. 4

Question Number : 124 Question Id : 48558436459 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Functions of Entreprensurship in relation 10 econenme Development do not inclucde -

1. Contribution to GDP

| o)

Capital Farmation

. Generation of Emplovinent

ad

4. Geoeration of Business opporfumtiss culy for sams business

Options :

485584145833. 1
485584145834. 2
485584145835. 3
485584145836. 4

Question Number : 125 Question Id : 48558436460 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The person who combines all factors of production, whao takes risk to earn prefit 15 called entreprencur,
Entrepreneur 1s

1. Subject
2. Vah
3. Dutcomes

4. Proosss

Options :

485584145837. 1
485584145838. 2
485584145839. 3
485584145840. 4

Question Number : 126 Question Id : 48558436461 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ficon Lid, has recenthy sef a target of becomime market leader in sale of smart TV, Arranze the steps mn the
process of planning which will follow atier setting of targets -

A. [dentifying alternative courses of action
B. Implementng the plan

C. Evaluating altemative cownses

D, Selectme an nlternative

E. Developing premises

Choose the camrect answer from the options given below

1, B, A: G, DB

[ ]

ECDLBLA

BCEAD

ks

4 EABRDC

Options :

485584145841. 1
485584145842. 2
485584145843. 3
485584145844. 4

Question Number : 127 Question Id : 48558436462 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

Arranes the comrect sequencs of steps mn Oreamzing process.

A, Identification and division of work

B. Establishmg authority and reporting relationships
C. Assipnment of Duties

D). Deparhmentalization

Choose the correct answer from the options given below
.B.C.A. D
20D ALBC
L CBDA
4. A.D.C.B

Options :

485584145845. 1
485584145846. 2
485584145847. 3
485584145848. 4

Question Number : 128 Question Id : 48558436463 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mr. Prateek, the Production Manager of Zim Ltd. has selected the night workdoree for his department. He
decides the following steps which he would adopt n the process of stathng Arrange them in correct sequence

A. Performance Appraisal

B. Compensation

. Placement and Onentation

D, Promaotion ond Career Plaomme
E. Traming and development

Choose the comrect answer from the options given below: -

1. C.AE, D.B

[ ]

B.C.D.AE
3iDABEC
4. C.E.A, DB

Options :
485584145849. 1



485584145850. 2
485584145851.3
485584145852. 4

Question Number : 129 Question Id : 48558436464 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Amange the steps of trading procedurs of stock exchange m the comect sequencs

A Delivermsz the shares

B. Placing an Order

C, Opening a Demat Acconnt
D). Execution of the order

E. Seftlement of transaction

Choose the correct answer from the options given below :
1. C.A.B.D.E
2CBDAE
3BADCE
1. B. AE. D

Options :

4855841458531
485584145854. 2
485584145855. 3
485584145856. 4

Question Number : 130 Question Id : 48558436465 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arranges the following in proper sequence.

A, Critical Point control and management by exception

B. Performance should be measured in an objective and relisble manner
C. Standards are set in both Quantitative as well as Qualitatrve terms

D. Feveal the deviation between cetual and desired results

E. Taking corrective action

Choose the correct answer from the options grven below :
1. AB.C.D.E
2EDC.BA
3C.RDAE
4 A.C.B.ED

Options :

485584145857. 1
485584145858. 2
485584145859. 3
485584145860. 4

Question Number : 131 Question Id : 48558436466 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the correct combinations of Principles of Management.

A, Division of work and motion study

B. Equity and scalar chain

C. Authorty and Responsibility and Method Study
D). Dhacipline and Ohder

E. Inatiative and Fatipue Study

Choose the correet answer from the options given below :

1. B and D Qnly

| )

A and D Onby

. B and E Only

Tl

4. C and E Cnly

Options :

485584145861. 1
485584145862. 2
485584145863. 3



485584145864. 4

Question Number : 132 Question Id : 48558436467 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following ave the souress of Recrutment for a newly set orpamzation?

A, Unskilled workers requived for unskilled work provided by labowr contractor
B. Promotion to the higher post

C. Webates such as wwwanauke.com & joblostreet efe,

D). Recommendations of employees

E. Recrutment from edocational mstitutions

Choose the correct answer from the options grven below
1. B Only
2. A.Cand D Onky
3.4 C &E Only
4. E Omly

Options :

485584145865. 1
485584145866. 2
485584145867. 3
485584145868. 4

Question Number : 133 Question Id : 48558436468 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statement/statemnents are not related with elements of Directing,

A, Every manager w the organization supervise hisher subordinates

B. It stimulates people to take up work veluntarily

C. The process of influencing the behavior of people by making them strive vohmtarily towards
achievements of crganizational goals

[, Effective communication with subordinates

E. Coordinating different funetions of management

Choose the correct answer from the options given below

1. E Only

| )

AL B and D Only

D Only

ad

4. B and C Cnly

Options :

485584145869. 1
485584145870. 2
485584145871. 3
485584145872. 4

Question Number : 134 Question Id : 48558436469 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following 1 not related with "Cntical point of control” concep?

A, Control should focws on key result areas

B. EFA's can never be set ag critical points

C. It is very casy and economical to keep a check on each and every activity of orzaniozation

D. If anything goes wrong at the critical pomts the entire organization suffers

E. In manufacturing orgamzation, an inerease of 3% m labour cost mav be more tronblesome than a 15%
merease i postal charges

Choose the correct answer from the options given below

1. A Only

| ¥

. C & B Only

C Ouly

ad

4.D & E Only

Options :
485584145873. 1



485584145874. 2
485584145875.3
485584145876. 4

Question Number : 135 Question Id : 48558436470 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What are the aspects of feasibality analysis under Entreprencwrshap Development 7

A, Techmeal Aspect
B. Economic Aspect
C. Fmaneial Aspect
D). Comunercial Aspect
E. Political Aspect

Choose the corect answer from the ephions given below
LA B and C Ouly

2. A.B.D and E Only

ad

. Aand B Only
4. A.B. C and D Ouly

Options :

485584145877. 1
485584145878. 2
485584145879. 3
485584145880. 4

Question Number : 136 Question Id : 48558436471 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Matel List T watls Last 1T

LIST | LIST 11
A [Economic snrizonment | T.rgi:]nri-:r.: Pasesd
B. [Social envitomtnent . |Swock marker Indices
C. {Technological environment | IIL [New Methods and Technigues
D, jL=gal apvircamment IV, [Traditions

Choose the comect answer from the options given below:
L ATV, B-IIL C-I1, Dl
2 AL B-IV, C-TIL. DI

CAGIL BAIIL C-IV. Dl

s

4, A-IL, B-I, C-II1, D-I¥

Options :

485584145881. 1
485584145882. 2
485584145883. 3
485584145884. 4

Question Number : 137 Question Id : 48558436472 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Matel List T watls Last 1T

LIST 1 LIST 11
A 0Objectrves I |General Satements
B. (Smaregy 1I. IRm;ﬁne seps
C. Paliey 1L JComprehensive plan
D. Procedurs IV. [End powt of planning

Choose the comect answer from the options given below:
L ATV, B-IIL C-I1, Dl
2 AV, B-II, C-TI1. I

ATV, BeL CWI1L DI

s

4. A-TV, B-IIL, C-I, I)-I1

Options :

485584145885. 1
485584145886. 2
485584145887. 3



485584145888. 4

Question Number : 138 Question Id : 48558436473 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T wath Last 1T

LIST I LIST I
{Controlling Process) {Belated Concept)
A, Mnalyvsing deviations) I [t demands manererial atteation
B TaJ-:'mg correctve 1 [t becomes sasy when quanttair=
clionn Hetrns are used
C CARpAISc af I To de:g mmang acceptable range of
" Etandard warh actuals] T jde=viatons
D weting performancs A erves as benchmarks towards which

tapdards mmgaum.zaﬂma Sirives 1o work

Choose the conect answer from the opticns given below:
1. AL BAIIL CSI1L DIV
2 AL B-L C-LL D-IV
AL B-ILL C-10 DTV
4. A-IV, B-I11. C-I1. -1

Options :

485584145889. 1
485584145890. 2
485584145891. 3
485584145892. 4

Question Number : 139 Question Id : 48558436474 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with Last 11

LIST | LIST 11
A || Interest Coverage Bateo [ |Rate of retucn
B. | Claosce of Technigue 1L | Fized Cagdtal
C. | Credit Allewead T | Capial stacnde
D | Capital budseting decisions TV | Working Cagital

Choose the corvect answer from the options given belo:
1. A-II B-III. C-IWV. -1
2 AL B-IL C-1 D-IV
3. AL B-IL C-IV. D-]
4, A-IL B-IV, C-IIL, D-1

Options :

485584145893. 1
485584145894. 2
485584145895. 3
485584145896. 4

Question Number : 140 Question Id : 48558436475 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Matel List T watls Last 1T

LIST 1 LIST I
A %'.'LIJ'_DPE'LE Products I igmreties. lce cr=am Medicin=s
B. |5peciality Prodoets II. IRa'ﬂ. materials, Engines. Lubmnicants
C. lndustrial Producs 11 [Fado, Jewellery, Fummitre
D. fConvenience Products | IV, [Salon, Restavrant, Boutique

Choose the comect answer from the options given below:
L. AdL BeIL CaIW, DWIIT
2 AL B-1. CH-TL DTV
A0 AGT BTN, C-I1L T
4, ATV, B-II1, C-II, I2-]
Options :

485584145897. 1
485584145898. 2



485584145899. 3
485584145900. 4

Sub-Section Number : 2
Sub-Section Id : 4855842694
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 141 Question Id : 48558436476 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

My, Rehian has done a diploma in Finaneial market and its participants, Recently he got a chance to present his
lmonledge and tran students m a school. He told students about various meney market instruments. He
menticned about an mstroment which is ssued by B.B.1 on behalf of Central Government. He tald students
that Banks use a system to bomow money (an instument) to mansage their CRR 1.e Cash Reserve Ratio. Later,
he mentioned a short term self Liquidating mstmment like Bills of Exchanze that can be used for arrangine
working eapital. He also told students about an instrument that helps to mebiliee large amounts of meney in
shiott period by commercial banks, Lastly, Mr. Rehan spoke about an instmiment that works a3 a replacement
towards bank borrowing for large eredit-wortly companizs. its matunty peniod 15 15 days to one year,

"He mentioned about an Instroment whach 15 1ssued by RBI on behalf of Central Government™ |
[dentify the Money instrumient to which the above piven line is related to.

1, Call money

I

. Conunercial Papers

()

. Treasury Bulls

o

. Commnercial Bills

Options :

485584145901. 1
485584145902. 2
485584145903. 3
485584145904. 4

Question Number : 142 Question Id : 48558436477 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




My, Rehian has done a diploma in Finaneial market and its participants, Recently he got a chance to present his
lmonledge and tran students m a school. He told students about various meney market instruments. He
mentiened about an mstrument which is ssued by B.B.1 on behalf of Central Government. He told students
that Banks use a system to bomow money (an instument) to mansage their CRR 1.e Cash Reserve Ratio. Later,
he mentioned a short term self Liquidating mstmment like Bills of Exchanze that can be used for arrangine
working eapital. He alzo told students about an instroment that helps to mobilize large amounts of meney in
shiott period by commercial banks, Lastly, Mr. Rehan spoke about an instmiment that works a3 a replacement
towards bank borrowing for large eredit-wortly companizs. its matunty peniod 15 15 days to one year,

He told that Banks use a system to borrow money (an mstnument) to manage their cash Reserve Ratio.

Which securtty amoengst money market Instrument 15 mentionad here.

1, Call money

-

2. Comunercial papers
3, Treasury billz

4. Commnercial Balls

Options :

485584145905. 1
485584145906. 2
485584145907. 3
485584145908. 4

Question Number : 143 Question Id : 48558436478 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Mr. Bchan has done a diploma 1 Fmancial market and its parhicipants, Becently he zot a chanee to present lus
lmowledge and tram students m a school. He told students about various mency market instruments. He
memntiened about an mstroment which is ssued by BT on behalf of Central Government. He told students
that Banks use a system to bomow money (an instument) to manage their CRR 1.e Cash Reserve Ratio. Later,
he mentioned a short term self Liquidating mstmment like Bills of Exchanee that can be used for arrangine
working eapital. He also told studeuts about an instroment that helps to mobilise large amounts of meney in
short period by commercial banks, Lastly, Mr. Rchan spoke about an instrament that works 2 a replacement
towards bank borrowing for large credit-worthy companizs. its matonty period is 15 days to one year,



*A short term self houidating like Bills of Exchange than can beused  for arvanging working capatal”,
Which Money Market instrument, was Mr. Rehan refernng to?
1. Call monsy
2. Certificate of Depoait
3, Covmmercial balls
4. Commercial papers
Options :
4855841459009. 1
485584145910. 2

485584145911.3
485584145912. 4

Question Number : 144 Question Id : 48558436479 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

M. Behan has done a diploma 1 Fimancial market and s pachicipants, Becently he zot & chanes to present hus
lmonledge and tramn students m a school. He told students about various meney market instruments. He
mentiened about an mstrument which is ssued by B.B.1 on behalf of Central Government. He told students
that Banks use a system to bomow moncy (an instrument) to manage their CRR 1.e Cash Reserve Eatio. Later,
he mentioned a short term self liquidating instmment like Bills of Exchange that can be used for arranging
working eapital. He alzo told students about an instroment that helps to mobilize large amounts of meney in
shoit period by commercial banks, Lastly, Mr. Rehan spoke about an instmment that worlks as a replacement
towards bank borrowing for large eredit-wortlyy companizs. its matunty period 15 15 days to one year,

*An instruent that helps to mobilise laree amounts of money 1o short penod by commnercial banks”.
Identify the money market mstrmnent stated above :
1, Certificate of Deposit
2. Call money
3. Cemmmercial balls
4. Treasury ball=
Options :
485584145913. 1
485584145914. 2

485584145915. 3
485584145916. 4



Question Number : 145 Question Id : 48558436480 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

M. Behan has done a diploma 1o Fiancial market and s pachicipants, Becently he zot & chanes to present his
lmonledge and tran students m a school. He told students about various meney market instruments. He
mentiened about an mstroment which is isued by B.B.1 on behalf of Central Government. He told students
that Banks use a system to bomow money (an instument) to manage their CRR 1.e Cash Reserve Ratio. Later,
he mentioned a short term self liquidating instmment like Bills of Exchange that can be used for arranging
working eapital. He also told students about an instroment that helps to mobilise large amounts of money in
shott period by commercial banks, Lastly, Mr. Rehan spoke about an instmiment that works a3 a replacement
towards bank borrowing for large eredit-wortlyy companizs. its matunty period 15 15 days to one year,

"An instrument that works as a replacement towards bank borrowing for large Credit-womthy compames, its
meturity pened 12 15 days to one vear”,

Id-::mi:ﬁy the money market mwstrmuent stated m the abave lnes.
1. Call money
2. Commercial papers

. Conunercial balls

L]

4. Certificate of Deposit

Options :

485584145917. 1
485584145918. 2
485584145919. 3
485584145920. 4
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Question Key Details :
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Comprehension Comp2




Spfex Ltd 18 a compeny manufsctonng masks. The newly appointed marketing mansger of the firm has taken

'Covid Pemndenue’ a8 an opportumty to merense sales. He vsed a combmation of tools to achieve s
conmmunication objective. He constituted 4 teams for designing these tools

Team 1 :- The tool nsed by them was an impersonal form of conumunication which was paud far.

Team 2:- The tool nsed by them invohres oral presentation of message m the form of conversation with one or
more progpective enstomers for the purpose of making sales

Team 3:= This team used short=-term meentives which were desipned to encourage the buvers to make
immediate purchase.

Team 4= Thiz team nsed a non-personal form of commmnication which was non-pard.

All the teams snceessfully desipned their tools and achieved their desived results,

The vanable of marketing mux discussed in the above case 15
1. Procuet mnc
2. Place mux
3. Price mnx

4, Promotion ninx

Options :

485584145921. 1
485584145922. 2
485584145923. 3
485584145924. 4

Question Number : 147 Question Id : 48558436482 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2




Safex Ltd 13 a company manufactonng masks. The newly appointed marketing mansger of the firm has taken
'Covid Pendenuie’ a8 an opportumty to merense sales. He vsed a combmabon of tools to achieve s
conmmunication objective. He constituted 4 teams for designing these tools

Team 1 :- The tool nsed by them was an impersonal form of conumunication which was paud far.

Team 2:- The tool nsed by them invohres oral presentation of message m the form of conversation with one or
more progpective enstomers for the purpose of making sales

Team 3:= This team used short=-term meentives which were desipned to encourage the buvers to make
immediate purchase.

Team 4= Thiz team nsed a non-personal form of commmnication which was non-pard.

All the teams snceessfully desipned their tools and achieved their desived results,

The tool used by Team 3 was
1. Public relations
2. Sales promotion

. Pubilicaty

ad

4. Brandng

Options :

485584145925. 1
485584145926. 2
485584145927. 3
485584145928. 4

Question Number : 148 Question Id : 48558436483 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Comprehension Comp2




Safex Ltd 13 a company manufactonng masks. The newly appointed marketing mansger of the firm has taken
'Covid Pendenuie’ a8 an opportumty to merense sales. He vsed a combmabon of tools to achieve s
conmmunication objective. He constituted 4 teams for designing these tools

Team 1 :- The tool nsed by them was an impersonal form of conumunication which was paud far.

Team 2:- The tool nsed by them invohres oral presentation of message m the form of conversation with one or
more progpective enstomers for the purpose of making sales

Team 3:= This team used short=-term meentives which were desipned to encourage the buvers to make
immediate purchase.

Team 4= Thiz team nsed a non-personal form of commmnication which was non-pard.

All the teams snceessfully desipned their tools and achieved their desived results,

The tool used by Team 4 15

1. Packaging

| )

. Adwertising

. Publienty

ad

4. Sales promotion

Options :

485584145929. 1
485584145930. 2
485584145931. 3
485584145932. 4

Question Number : 149 Question Id : 48558436484 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension Comp2




Safex Ltd 13 a company manufactonng masks. The newly appointed marketing mansger of the firm has taken
'Covid Pemndenue’ a8 an opportumty to merense sales. He vsed a combmation of tools to achieve s
conmmunication objective. He constituted 4 teams for designing these tools

Team 1 :- The tool nsed by them was an impersonal form of conumunication which was paud far.

Team 2:- The tool nsed by them invohres oral presentation of message m the form of conversation with one or
more progpective enstomers for the purpose of making sales

Team 3:= This team used short=-term meentives which were desipned to encourage the buvers to make
immediate purchase.

Team 4= Thiz team nsed a non-personal form of commmnication which was non-pard.

All the teams snceessfully desipned their tools and achieved their desived results,

The tool used by Team 1 15
1. Advertising
2. Public relations
3. Publicity
4. Personal selling

Options :

485584145933. 1
485584145934. 2
485584145935. 3
485584145936. 4

Question Number : 150 Question Id : 48558436485 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Spfex Ltd 18 a compeny manufsctonng masks. The newly appointed marketing mansger of the firm has taken
'Covid Pemndenue’ a8 an opportumty to merense sales. He vsed a combmation of tools to achieve s
conmmunication objective. He constituted 4 teams for designing these tools

Team 1 :- The tool nsed by them was an impersonal form of conumunication which was paud far.

Team 2:- The tool nsed by them invohres oral presentation of message m the form of conversation with one or
more progpective enstomers for the purpose of making sales

Team 3:= This team used short=-term meentives which were desipned to encourage the buvers to make
immediate purchase.

Team 4= Thiz team nsed a non-personal form of commmnication which was non-pard.

All the teams snceessfully desipned their tools and achieved their desived results,

The tool used by Team 2 15
1. Pubhc relations
2. Personal selling
3. Advertising
4. Publicity

Options :

485584145937. 1
485584145938. 2
485584145939. 3
485584145940. 4
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Question Number : 151 Question Id : 48558436486 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who made the following statement: "Marshall left India three thonsand years older than he had founed her.”
1. Deve Fam Sabum
2. Ralchal Das Banerji

 BLE. M. Wheeler

L

4, 5.5. Roy

Options :

485584145941. 1
485584145942. 2
485584145943. 3
485584145944. 4

Question Number : 152 Question Id : 48558436487 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Archasological study of a mowmed can provids cultural sequenee for a site. Study of such layers 18 called

1. Ethnography

2. Stratigraphy

i

Epegraphy

L

Sociography



Options :

485584145945. 1
485584145946. 2
485584145947. 3
485584145948. 4

Question Number : 153 Question Id : 48558436488 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Which of the following Harappan sites weie located near the coast?
1. Banawali and Rakhigarin
2. Mageshwar and Balalcot

. Ganvwerrwala and Mitathal

T

4, Kot-Dun and Eahbangan

Options :

485584145949. 1
485584145950. 2
485584145951. 3
485584145952. 4

Question Number : 154 Question Id : 48558436489 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Who among the following 15 often held as the ‘Father of Inchan Archacsology'?

1. John Marshall

| ]

. Alexander Conmingham

L]

. James Prinsep
1, R.E.M. Wheelei

Options :

485584145953. 1
485584145954. 2
485584145955. 3
485584145956. 4



Question Number : 155 Question Id : 48558436490 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Traces of canals have been found at the Harappan site of Shortnghai, which 15 located n
1. Puayab

2. Sind

Tl

. Afelwmstan
4., Gujarat

Options :

485584145957. 1
485584145958. 2
485584145959. 3
485584145960. 4

Question Number : 156 Question Id : 48558436491 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

In1 ancient India. the first coins to bear the names and images of the milers were iwsned by the

1, Indc=iFreeks

I

. Kushans

L]

. Parthians
4, Shakas

Options :

485584145961. 1
485584145962. 2
485584145963. 3
485584145964. 4

Question Number : 157 Question Id : 48558436492 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ




Which place are yvon visiting 1of you come across the hon capetal bualt by Asoka?
1. Varanasi
2. Delha
3, Sarnath
4, Uyayuu

Options :

485584145965. 1
485584145966. 2
485584145967. 3
485584145968. 4

Question Number : 158 Question Id : 48558436493 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Prabhavat Gupta was the davghter of ;

1. Chandragupta I

2. Sanmulragupta

3, Chondragupta Maneya
4. Skandgupta

Options :

485584145969. 1
485584145970. 2
485584145971. 3
485584145972. 4

Question Number : 159 Question Id : 48558436494 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Comprehension MCQ




Wihich of the following statements are correct?

A, The Dhanmasutras and Dharmashastras recogpmsed as many as twelve forms of mamiages,

B. People were classfied mto gotras and cach gotra was named after a Vedic seer.

C. Jatis. which shared a common occupation, were sometimes organised into shrenis or guilds.

D). Women were allowed to retamn the gifts they received on thew marnage as 'Stridhana’ to be hented by
their children.

E. Matriliny 13 the term used when descent 15 traced through the mother.

Choose the correet answer from the options given below:
1.A.B.C.E only
2 A C. DL E only

B. C, ). E only

ad

4. A.B.D.E only

Options :

485584145973. 1
485584145974. 2
485584145975. 3
485584145976. 4

Question Number : 160 Question Id : 48558436495 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What did Tk Battuta observe when he visited the city of Dellu?

A, Its beauniful temple architecture in every part of the city,
B. Its fine cemetery with domes and arches.
C, Its imposing stupa in the heart of the eitw,
D, Its towventy-cight big darwazas.
E. Its many waterfalls withan the city,
Choose the correet answer from the options grven belos:
1. A. B only
2. C.Donly
3. B. D only
4. D. E only

Options :
485584145977. 1
485584145978. 2



485584145979. 3
485584145980. 4

Question Number : 161 Question Id : 48558436496 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Match List T wath Last 11;

LIST I LIST I
{Traders) [Countries)
A IMicolo de Conti L [Fagland
B. Duame Barbose IL frals
| C. [Peter Muondy [11. [Fansara
D fAfamasn Mikitm IV Fn.'-r:uﬂai.

Choose the correet answer from the options grven below:
1. A-IL B-I, C-III, D-IV
2. AL B-IILL C-IV, DI
AV BA-IOL C-IDL D]
4, A-II, B-IV, C-I, D-III

Options :

485584145981. 1
485584145982. 2
485584145983. 3
485584145984. 4

Question Number : 162 Question Id : 48558436497 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mlateh List T wath Last 11

LIST | LIST [
A [Abvars T [Biak
B. |[Virashaiva II. [Tevaram
C. Mayanars I [Malayvaa Divvaprabandhan
D [Kabir IV, [Vachanas

Choose the correct answer from the options given below:
1. A-L B=I[W, C-III, D=I1
2 AL B-TIV. C-I1. I

i AL BeL CLIOLL DWIV

L

4. A-TV, B-IIL, C-I, I)-I1

Options :

485584145985. 1
485584145986. 2
485584145987. 3
485584145988. 4

Question Number : 163 Question Id : 48558436498 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mlatel List I wath Last 11:

LIST 1 LIST 11
(5ufi Teachers) (Year of Dreath)
A Poluinsddes Siz I |1265
B. Fandoddin Gany-1-Shakar 11 |1235
dzarmuddin Avliva 11 J1356
Jasiruddm Chirag IV |1325

Choose the correct answer from the options grven below:
1. A-II, B-IIL. C-I, D-TV
2. AL B.IL C-IIL DIV
JOACL B-LC-IV, DI
4, A-IV, B-IIL. -1, D-I1
Options :
485584145989. 1

485584145990. 2
485584145991. 3



485584145992. 4

Question Number : 164 Question Id : 48558436499 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Choose the Incorrect statement out of the followms:

1. Guru Wanak rejected the sacnfices and nituals of both Hmdus and Muslims.

| )

Gur Nanak did not wish to establish his own new religion.

o

. Guru Nanak ndvocated the form of Nirguna Bhald,
4. Guru Nanak appomted ons his disciple 'Angad' to succesd lum as the perzeptor.

Options :

485584145993. 1
485584145994. 2
485584145995. 3
485584145996. 4

Question Number : 165 Question Id : 48558436500 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Clronolozically arranze the landmark events mn the discovery of Vijavanacara.

A, Conservation under John Marshall,

B. Documentation of temple mseriptions by TF. Flest

T, Survey of Vijayanazara by Colin Mackenzie.

D. Status of world heritags site by UNESCO.

E. Photography of the archazolopical site under Alexander Greenlaw,
Choose the correct answer from the options given below:

LCERBAD

2B D AEC

3L3C.DARBE

1. E.AC.TLB

Options :
485584145997. 1
485584145998. 2



485584145999. 3
485584146000. 4

Question Number : 166 Question Id : 48558436501 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Arranes the followme dynasties i a chronological order.

A, Tubwva dynmsty
B. Saluve dynasty
C. Arvavidn dynasty
D, Sangama dynasty

Choose the correet answer from the options given below:
LABCD
2ABD.C
3 C.DAB
4 DB AC

Options :

485584146001. 1
485584146002. 2
485584146003. 3
485584146004. 4

Question Number : 167 Question Id : 48558436502 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What 15 a '"Gopuram' in the context of Vijavanagara Empure”
1. Mandapa
2. Platform
3, Bhrme
4, Gateway
Options :

485584146005. 1
485584146006. 2




485584146007. 3
485584146008. 4

Question Number : 168 Question Id : 48558436503 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Correct Marks : 5 Wrong Marks : 1
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1'-'-i_ii'!}"-’!ll-’!l__r,c’llg’l Kines clamed o mile on behalf of the Gaod

1. Pampadei

| ]

Virupelsha

L]

. Viatthala

4, Fama

Options :

4855841460009. 1
485584146010. 2
485584146011. 3
485584146012. 4

Question Number : 169 Question Id : 48558436504 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

The Viayanasara Empire was known to its contemporaries as :

1. Meharashtra Samrayyamu

-

2. Andhra Samrajvamn

L

. Tl Ssineagvaimi
4, Karnataka Sammajyvamu

Options :

485584146013. 1
485584146014. 2
485584146015. 3
485584146016. 4

Question Number : 170 Question Id : 48558436505 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

I the 1Tth centiy. Indo-Persian sources, the term for nen=respdent cultivators, whe belonged to some other
village but cultivated land elsewhere on contractual basis. were known as

1. Klmd-Kashta
2. Palu-Eonshia
3. Mugaddam

4. Muzarian

Options :

485584146017. 1
485584146018. 2
485584146019. 3
485584146020. 4

Question Number : 171 Question Id : 48558436506 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Identify the correct sequence of the clwomeles written during the Muzhal period.

A, Akbar Mama
B. Alamgir Nama

C. Char Chaman
D Jahangir Nama
E. Humayun Nama

Choose the correet answer from the options grven below

1. AC.B.D.E
2ADRBCE
3JEABDC
1. EADC B

Options :

485584146021. 1

485584146022. 2

485584146023. 3
485584146024. 4

Question Number : 172 Question Id : 48558436507 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Which mumster looked afier the finances m the Muchal Empure?

1. Sadr-ws=-Sadu

-

2. Drvan-1-Ala

s

. Mir Balsala
1, Mir Saman

Options :

485584146025. 1
485584146026. 2
485584146027. 3
485584146028. 4

Question Number : 173 Question Id : 48558436508 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Whom dhd Akbar honowr with the title "Zamin galam"?

1. Bubasmnad Husavn

| ]

. Albul Hasan

[T2e]

. Panrag

A

. Abxdul Hamsd Lalwon

Options :

485584146029. 1
485584146030. 2
485584146031. 3
485584146032. 4

Question Number : 174 Question Id : 48558436509 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The Permanent Settlement came 1o operation in

1. 1564

1, 1800

Options :

485584146033. 1
485584146034. 2
485584146035. 3
485584146036. 4

Question Number : 175 Question Id : 48558436510 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Manchester Cotton Company was formed 1o the yeai
1. 1857
2. 1858

i. 1850

4, 1860

Options :

485584146037.
485584146038.
485584146039.
485584146040.

AW N =

Question Number : 176 Question Id : 48558436511 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Before the age of railway, the town of Mirzapir was a collection centre for cotion from whach area?

1. Puayab

I

. Tamil Wadu
i, Gujarat

4, Decean

Options :

485584146041. 1
485584146042. 2
485584146043. 3
485584146044. 4

Question Number : 177 Question Id : 48558436512 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Satvapit Ray's film 'Talshachar' dealt with the subyject matter of

1. India’s freedom struggle.

L

The decline of the anstocratic znmindan style of living.

. Revolt of 1857

LATF]

4. Swadesht Movement m Bengal.

Options :

485584146045. 1
485584146046. 2
485584146047. 3
485584146048. 4

Question Number : 178 Question Id : 48558436513 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who orgamsed the zoo wlach later on became the Calentta Alipore Zoo?

1. Francis Buchanan

| )

. Angustis Cormwallis

. Charles Comwallis

T

4, Mabavapa Melital Chand

Options :

485584146049. 1
485584146050. 2
485584146051. 3
485584146052. 4

Question Number : 179 Question Id : 48558436514 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Where 1s 'Borah Bazaar' located?
1. Madras

2. Bombay

3, Lucknow

1, Slumla

Options :

485584146053. 1
485584146054. 2
485584146055. 3
485584146056. 4

Question Number : 180 Question Id : 48558436515 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Name the lnstonan who remarked that South Africa was "the making of Mahatna®,
1. Lala Lajpat Bai
2. Bal Gangadhar Tilak
3. Chandron Devanesan
4. Abindranath Tagore

Options :

485584146057. 1
485584146058. 2
485584146059. 3
485584146060. 4

Question Number : 181 Question Id : 48558436516 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who from among the followme nationalist leaders belonged to the zroup of Moderates?
1. Bipan Chandra Pal

2. Bal Grangadhar Tilel

=]

. Gopal Krishna Gokhale

1. Chandrashellar Azad

Options :

485584146061. 1
485584146062. 2
485584146063. 3
4855841460064. 4

Question Number : 182 Question Id : 48558436517 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who amongst the following were close associates of Gandlu in the years 1917-19227

A, Vallabhbha Pogel

B. Subhas Chandra Boze
C. Aniuie Besant

D, Govind Ballabh Pant
E. B.R. Ambedkar

Choose the correet answer from the options mven below
1. A.C. E only
2 A B Eonly
3.B.D. C only
4. A . B. D ooply

Options :

4855841460065. 1
485584146066. 2
485584146067. 3
4855841460068. 4

Question Number : 183 Question Id : 48558436518 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with Last 11:

LISTI LIST 1
A [Dandi March T Jie17
E. [Khilafa: Movemem il [CEE
C. Jouur India Movement [ j1921
D. {Champaran Movement Iv. [1930

Choose the correct answer from the options given below:
1. A-L. B-II, C-IIL D=1V
20 AL BTV, C-L T-ITIT
AV BAIL -1 DA
4. A-IIL B-IW, C-], D-II
Options :
485584146069. 1

485584146070. 2
485584146071. 3



485584146072. 4

Question Number : 184 Question Id : 48558436519 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Chronolomeally arvange the following moveinents led by Mahatma Gandhi.

A, BEowlatt Satyagraha

B. Eheda Movement

C. Champaran Satyvagraha
Dr, Ahmedabad Ml Sl
E. Dandi March

Choose the corvect answer from the options arven below:
1. AAB.C.D.E

2B.D.CAE

L]

C.D.B.AE
. C.A.B.D.E

Options :

485584146073. 1
485584146074. 2
485584146075. 3
485584146076. 4

Question Number : 185 Question Id : 48558436520 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Hadu Mahasablsa' was fonnded 1o
1. 1917
2 191s

TR

3. 191n
4, 1919

Options :

485584146077. 1
485584146078. 2
485584146079. 3



485584146080. 4

Question Number : 186 Question Id : 48558436521 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

On whach date dud the Constihuent Assembly begin its sessions?
L. & December 1946
2. 9 Deacamber 1946
3,15 July 1946
4, 16 July 1946

Options :

485584146081. 1
485584146082. 2
485584146083. 3
485584146084. 4

Question Number : 187 Question Id : 48558436522 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T wath Last 11;

LIST | LIST I
A fCultural and Educational Rights T [Articles 1508
E. [Right to Equality . |Articles |7
. [Freedom of Falipion OI. |Article 14-14
D. {abolition of Untouchabdlity IV, JApticles 28,30

Choose the correct answer from the options given below;
L. A-IL B-IIL C-I¥, 11
2. ATV, B-TIIL C-I1. AT
3. A-L BAL CAIILL =TV
4, ATV, B-IIL, C-I, =1
Options :
485584146085. 1

485584146086. 2
485584146087. 3



485584146088. 4

Question Number : 188 Question Id : 48558436523 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who were the two other lawvers serving with B.R. Ambedkar on the Drafting Commmttee of the Constitution?

A KM Munsha

B. BN Rau

C. Allads Erishnasswany Adyar
D, 8N Mukherjze

E. Rajendra Prasad

Choose the correet answer from the options miven below:

1. A B only

| o)

. B. C only

T

A, C only

4, D E only

Options :

485584146089. 1
485584146090. 2
485584146091. 3
485584146092. 4

Question Number : 189 Question Id : 48558436524 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arvangs the following in a chronological order:

A, Comstituent Assembly bepins its sesgion.

B. Muslim League accepts Cabinet Mission's constitutional scheme.
C. Muslim Leagne decides to join the Interim Government,

D). Mushm League apmounees Direct Action Day.

E. Muslim League demands dissolution of the Constituent Assembly,

Choose the correct answer from the options grven below:
LB.D.C.AE
2B ATDCE
JABCDE
4. LA E. B, C

Options :

485584146093. 1
485584146094. 2
485584146095. 3
485584146096. 4

Question Number : 190 Question Id : 48558436525 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following statements are Tewe for the Constitwent Assembly?

AL TCwas boveotted by the Muslim Lengzue,

B. It was elected by Timiversal Franchise.

C, Its members were chosen by Provineial Legislotures,
D). Majority of 1ts members belonged to the Sociahst Party.
E. Constituent Assembly was dominated by three parties

Choose the correet answer from the ophons given below:

1. A E only

| (o)

. B, I} only

AL C only

Tad

4, B. E only

Options :

485584146097. 1
485584146098. 2
485584146099. 3
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Sub-Section Number : 2
Sub-Section Id : 4855842697
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 191 Question Id : 48558436526 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the guestions :

According 10 Buddhust philosophy. the world 15 transient (anieca) and constanty changing: i is also seulless
(anatta) as there ia nothing permanent or eternal mn it. Withan thas transient world. soreowr (dubdcha) 18 intrinsie
to human existence. Tt 1 by following the path of moderation between severe penance and self mdulgence that

human beings can rise above these worldly troubles. In the earliest forms of Buddhism whether or not god
existed was irrelevant,

Which of the following statement 15 NOT True regardmg the Buddhst plulosophy?
1. The world 15 transient and constantly changmg.

. Sorrowr 15 intrensic to haman existence

T

. Hunans enn rise above sorrow by following the path of severe penomce md self-mdulgence.
4. The world is soulless as there is nothing pennanent or eternal n it

Options :

485584146101. 1
485584146102. 2
485584146103. 3
485584146104. 4

Question Number : 192 Question Id : 48558436527 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Read the passage and answer the guestions :

According 10 Buddhust philosophy. the world 15 transient (amieca) and constanty changing: i is also seulless
(anatta) as there 1s nothing permanent or eternal mn it. Within thas transient world. soreowr (dubdeha) 15 intrinzic
to hunman exastence. Tt is by followmg the path of moderation between severe penance amd self mdulgence that
human beings can rise above these worldly troubles. In the earliest forms of Buddhizm whether or not god
existed was wrelevant,

Which of the following idea 13 NOT a part of the feachings of the Buddha?

1. Importance DErjghl condust and values.

-

2. Clayma of superionty based on barth.
3. Mefta (fellow feeling).
4, Karuna (compassion).

Options :

485584146105. 1
485584146106. 2
485584146107. 3
485584146108. 4

Question Number : 193 Question Id : 48558436528 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the passage and answer the questions :

According 1o Buddhast philosophy. the world iz transient (aeca) and constantly changang: i is also soulless
(anatta) as there i3 nothing permanent or eternal wn it. Withan thas transient world. sorrow (duldcha) 15 intrinaic
to human existence. It 15 by followmg the path of moderation between severe penance amd self mdulgence that
human beings can rise above these worldly troubles. [n the earliest forms of Buddinsm whether or not god
existed was wrelevant,

In Buddinzm, the followers of the older tradition, whe followed the old path and respected teachers, desenbed
themselves as:

1. Theravadins
2. Mabavaiias
3, Taravadins

4. Tantrics

Options :



485584146109. 1
485584146110. 2
485584146111. 3
485584146112. 4

Question Number : 194 Question Id : 48558436529 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the passage and answer the questions :

According 10 Buddhust philosophy. the world 15 transient (anieca) and constantly changing: i is also soulless
(anatta) as there is nothing permanent or eternal i it. Within this transient world. sorrow (duldcha) 18 intrinaic
to human existence, Tt s by followmng the path of moderation between severe penance amd self mduleence that
human bemngs can rise above these worldly troubles. In the earhiest forms of Buddiism whether or not god
existed was wrelevant,

Where did Gantaina Buddha attanm 'mabbana'?

1, Lvanbau

| o]

. Rajgriha

. Samath

T

4. Kusinagarm

Options :

485584146113. 1
485584146114.2
485584146115.3
485584146116. 4

Question Number : 195 Question Id : 48558436530 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the passage and answer the guestions :

According 1o Buddhust philosophy. the world 15 transient (amieca) and constantly changing: i is also seulless
(anatta) as there 18 nothing permanent or eternal m it. Within thas transient world. sorrow (dulddha) 15 intrinsic
to human existence, Tt 15 by following the path of moderation between severe penance amd self mduleence that
human beings can rise above these worldly troubles. In the earliest forms of Buddhizm whether or not god
existed was irrelevant,



Which of the following stateiments are Tene about the teachings of BuddhaT

A, The Buddha rexarded the social world as of divine orimn.

B. The Buddha advised kings and gahapatis to be humane and ethical.

C. The Buddha believed that collective effort was requared to transform social relations.

D). The Buddha emphasised mdividual agency and righteous action to escape from the cycle of barth.
E. The Buddha asserted that the extingmshing of ego and desire wounld end the evele of suffenng,

Choose the correet amswer from the options given below:
1. €. D. E caly
2. B.C. D only
3. A.B.Donly

4.B.IE 4::-1.11}'

Options :

485584146117. 1
485584146118. 2
485584146119. 3
485584146120. 4

Sub-Section Number : 3
Sub-Section Id : 4855842698
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 196 Question Id : 48558436531 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Eead the passage and answer the questions :

Section I - Regavding Zemindars. It evident that the Bratish Government i making zemindnry seftlement
have imposed exmbitant Jumar freverme demand) and have disgraced and muned several Zemindars by
putting up their estates for public anction for amears of rent. i so much, in the nstintion of a st by a
cammon Byot, a maud servant or a slave, the respectable Zamindars are suomnoned mto conrt, mrested, put in
goal and disgraced. In hitiganon reparching Zemindanes. the immense value of stamps, and other nnmecessary
expenses of the civil courts.... are all calculated to 1mpoverish the litigants. Besides this, the coffers of the
Zemindars are snnnally taxed with the subscription for schools, hosptals, roads, ete, Such extortions will have
no manner of existancs i the Badshaln Govemment: but on the contrary the Juwas wall be light. the dignaty
and hononr of the Zemindars anfe, and every Zermdar will have absolore mule in his own Zemindary



Tlus excerpt has been taken from:

1. Byoaur Proclamanen of 1837

-

2. Kanpur Proclamation of 1857

|5

4. Lucknow Proclamation of 1857

Options :

485584146121. 1
485584146122.2
485584146123. 3
485584146124. 4

. Azampgarh Proclamation of 1857

Question Number : 197 Question Id : 48558436532 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp2

Eead the passage and answer the questions :

Section I - Regavding Zemindars. Tt evident that the Brtish Government m making zemindnry seftl ement
have imposed exmbitant Jumar freverme demand) and have disgraced and muned several Zemindars by
putting up their estates for public anction for amears of rent. i so much, in the nstintion of a st by a
comumon Byot, a maud servant or a slave, the respectable Zamindars are sunmoned mto court, mrested, put in
goal and disgraced. In hitigaton reparding Zemindanes. the tmmense value of stamps, and other nnmecessary
expenses of the civil courts.... are all calculated to 1mpoverish the litigants. Besides this, the coffers of the
Zemindars are annually taxed with the subseription for schools, hospatals, roads, ete, Such extortions will have
no manner of existence n the Badshahi Govermment: but on the contrary the Jusas wall be light. the dignty
and honour of the Zemindars safe, and every Zerumndar will have absalue rule in bas own Zemindary

"Section 1" of the Proclamation addresses to which class?

1. Service gentry class
2. Land holding clasa
3. Merchant-cormnercinl class
4. Artisans and peasants
Options :
485584146125. 1
485584146126. 2

485584146127.3
485584146128. 4




Question Number : 198 Question Id : 48558436533 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2

Eead the passage and answer the questions :

Section I - Regavding Zemindars. Tt evident that the Brtish Government m making zemindnry seftl ement
have imposed exmbitant Jumar freverme demand) and have disgraced and mned several Zemindars by
putting up their estates for public anction for amears of rent. i ¢ much, in the nstintion of a st by a
comumon Byot, a maud servant or a slave, the respectable Zamindars are sunimoned mto conrt, mrested, put in
goal and disgraced. In hitigation reparchng Zemindanes, the immense value of stamps, and other nnmecessary
expenses of the civil courts.... are all calculated to 1mpoverish the litigants. Besides this, the coffers of the
Zemindars are annually taxed with the subscription for schools, hospatals, roads, ete, Such extortons will have
no manner of existence in the Badshahi Govermment: but on the contrary the Jumas wall be light. the dignty
and honour of the Zemindars safe, and every Zerumndar will have absalue rule in bas own Zemindary

Which of the difficulties and misenes of the zamundars have NOT been addressed m the Proclamation?

1. Abselute maxnmising of land tax

| )

. Loss of social prestige.

L

. Fmnmein] burden of the hitigation.
4. Baclkwardness 11 commmunestion sod transportation.

Options :

485584146129. 1
485584146130. 2
485584146131. 3
485584146132. 4

Question Number : 199 Question Id : 48558436534 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2




Eead the passage and answer the questions :

Section I - Regavrding Zemindars, It1s evident that the Bratish Government mn making zemindary settlement
have imposed exmbitant Jumar frevenme demand) and have disgraced and mined several Zemindars by
putting up their estates for public anction for arvears of rent. in 6 much, in the instination of o st by g
common Byot, a mawd servant or a slave, the respectable Zamindars are summoned mto conrt, mrested, put in
goal and disgraced. In htigation reparching Zemindanes, the immense value of stamps, and other vnmecessary
expenses of the civil courts..... are all caloulated to impoverish the litigants. Besides this, the cotfers of the
Zemindars are aunually taxed with the subseription for schools. hospatals, roads, ete. Such exfortions will have
no manner of existencs m the Badshahi Govemment: but on the contrary the Jumas wall be light. the dignaty
and honour of the Zemindars safe, and every Zerundar will have absalue mle in bas ovwn Zemindary

The alternative rule of Badshaln Government' proposed by the rebels m this proclamation refers to

1. The mle of the king of England.
2. The royal nature of the companmy state.
3. The rule of India's fraditeonal anstocratie class. such as of Bahadur Shah Zafar,

4. The rule established by the rebels based on the ordinary people of India.

Options :

485584146133. 1
485584146134.2
485584146135. 3
485584146136. 4

Question Number : 200 Question Id : 48558436535 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2

Eead the passage and answer the questions :

Fection I - Regavding Zemindars. Tt 14 evident that the Brtish Government i making zemindory seftl ement
have imposed exmbitant Jumar frevenme demand) and have disgraced and mined several Zemindars by
putting up their estates for public anction for arears of rent. in 6 much, in the instination of o st by g
common Byot, a mawd servant or a slave, the respectable Zemindars are smmmoned mto conrt, mrested. put in
goal and disgraced. In hitiganon reparding Zemindanes. the tmmense value of stamps, and other vimecessary
expenses of the civil courts..... are all caloulated to impoverish the litigants. Besides this, the cotfers of the
Zemindars are aunually taxed with the subseription for schools, hospatals, roads, ete. Such exfortions will have
no manner of existence in the Badshahi Govermment: but on the contrary the Jumas wall be light. the dignty
and honour of the Zemindars safe, and every Zerundar will have absalue mle in las own Zemindary




Loss of zanndan estates and public anction of the same. as mentioned 1n the Proclamation, was

by

1. War of succession with the Bratish

Fd

. Military expedition of the company.

3. New land reserve settlements of the company.

4. Lack ot competence and co-ordmshon on part of the zamndars,

Options :

485584146137. 1
485584146138.2
485584146139. 3
485584146140. 4

Home Science

Group Number : 5

Group Id : 485584825
Group Maximum Duration : 45

Group Minimum Duration : 45

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 200

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Home Science

Section Id : 485584949
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842699
Question Shuffling Allowed : Yes

Is Section Default? : null

. |
CAllsEl

Question Number : 201 Question Id : 48558436536 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

The Persons with Disabilities Act was passed n which year?
1. 1903
2. 1984
3. 2000
4, 1998

Options :

485584146141. 1
485584146142.2
485584146143. 3
485584146144. 4

Question Number : 202 Question Id : 48558436537 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The causes of disabihty in children can be grouped into three categories wlich are:

A. Factors that unpange on the child durma development

B. Factors dus to school education

. Factors that affect before birth, both penstic and non-genstic
[, Factors that affect the child at birth or soon after birth

Choose the correct answer from the options given below:
1. A Cand D only
2 A Band C onky
3. B Coand I ondy
4. A. B and D only

Options :

485584146145. 1
485584146146. 2
485584146147. 3
485584146148. 4

Question Number : 203 Question Id : 48558436538 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

15 the baswc unit of socicty which looks after its members.

L. School
2_ Famuly
3. Neyghbour

4. Fraenads

Options :

485584146149. 1
485584146150. 2
485584146151. 3
485584146152. 4

Question Number : 204 Question Id : 48558436539 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I India. a semwor citizen 15 a person belonging to which of the following age prowp?

1. 65 years and above

-

2. 60 years and above

. 70 yenrs and above

T

4, 80 vears and above

Options :

485584146153. 1
485584146154.2
485584146155. 3
485584146156. 4

Question Number : 205 Question Id : 48558436540 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




I which year, Mumstry of Yooth Affairs amd Sports adopted the Nanonal Youth Policy?
1. 2005

22003

A 2004

4, 2010

Options :

485584146157. 1
485584146158. 2
485584146159. 3
485584146160. 4

Question Number : 206 Question Id : 48558436541 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mamne the psychologmst who outlined the preat need that children have for a concerned. caring and
Immivledgeable adult

1. Piaget
2. Freud
3. Vygotsky

1. Brmer

Options :

485584146161. 1
485584146162.2
485584146163. 3
485584146164. 4

Question Number : 207 Question Id : 48558436542 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the grven standarchsation mark.

2. FPO

3. AGMARK

4. Hallmark

Options :

485584146165. 1
485584146166. 2
485584146167. 3
485584146168. 4

Question Number : 208 Question Id : 48558436543 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A process through which buyer makes decisions about purchasme 15 known as :

1. Consumer behaviour

| )

. Consumer right

. Conswmner footfall

T

4. Consumer sxpectation

Options :

485584146169. 1
485584146170. 2
485584146171. 3
485584146172. 4

Question Number : 209 Question Id : 48558436544 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 15 a tool to empower and equp conswners to protect themselves from adverse market
torces 7

1. Conamner education

-

2. Consumer problema
3. Consuaner behaviou
4. Consumer responsibility

Options :

485584146173. 1
485584146174.2
485584146175. 3
485584146176. 4

Question Number : 210 Question Id : 48558436545 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What 15 the other name for short lived fasluon?
1. Fad

2. Clazsic

3. Style

4. Dresign

Options :

485584146177. 1
485584146178. 2
485584146179. 3
485584146180. 4

Question Number : 211 Question Id : 48558436546 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




You have to purchase a dress for your sister who s tall and sl Inclussen of whiach of the followinge will be
appropuiate tor her?

1. Vertical lines

2. Horizontal lines
3. Dak colours

4. High waist bodics

Options :

485584146181. 1
485584146182.2
485584146183. 3
485584146184. 4

Question Number : 212 Question Id : 48558436547 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

abality requares a thoreugh knowledes of past futwre tremds and current futie trends,
L. Analviscel
2. Farecasting
A, Communicatioa

4. Teehueal

Options :

485584146185. 1
485584146186. 2
485584146187. 3
485584146188. 4

Question Number : 213 Question Id : 48558436548 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




is the inportant phase i wash eyele. If 1t 15 not done properly, clothes may look grey, dull with

biarsh texture,
Water extraction

2. Rinsing

3 Dy

4. Pressing

Options :

485584146189. 1
485584146190. 2
485584146191. 3
485584146192. 4

Question Number : 214 Question Id : 48558436549 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following colour scheme refers to a colowr combination vsing two or three hues that lie sade by
s1de on the zolour wheel?

1. Achromatic harmomoy

2. Accented neutral

3. Analogous hammoiy

4. Complementary harmomy

Options :

485584146193. 1
485584146194. 2
485584146195. 3
485584146196. 4

Question Number : 215 Question Id : 48558436550 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The term "Development Conmmunication” was fust comed by Quebral m which vear?
1. 1960
2. 1970
3. 1872
4, 1974

Options :

485584146197. 1
485584146198. 2
485584146199. 3
485584146200. 4

Question Number : 216 Question Id : 48558436551 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

To create focnsed attention on a small village in Delh, the Progeet villaze Chattera was started mn 1969, Wlich
newspaper was mvolved in this project?

1. The Times of India
2. The Hindosten Tunes

. Mevbharat fimes

i

4, The Hindn

Options :

485584146201. 1
485584146202. 2
485584146203. 3
485584146204. 4

Question Number : 217 Question Id : 48558436552 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




I which of the followme disease condition, low fibre diet 15 recommended?

1, Dharrhosa

| ]

Constipation

L]

Chiabetes

4, Heart disease

Options :

485584146205. 1
485584146206. 2
485584146207. 3
485584146208. 4

Question Number : 218 Question Id : 48558436553 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

1

Which of the following i1s a welfare catening servige
1. Holiday camps
2. Langar
3, Clubs
4, Flight katchens

Options :

485584146209. 1
485584146210. 2
485584146211.3
485584146212. 4

Question Number : 219 Question Id : 48558436554 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of these 15 NOT a feature of GMP (Good Manufactwinge Practice)?
1. Munmise false labelling

2. Conawner education

3. Eluninate contamination

1, Mislead consumei

Options :

485584146213. 1
485584146214. 2
485584146215. 3
485584146216. 4

Question Number : 220 Question Id : 48558436555 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In the context of food standards regulations, which of the following is an uernational reference for quality
menagement of an crganisation?

1. IS0 6000
2. 180 7000
3 IS0 B0d0
4, IS0 2000

Options :

485584146217. 1
485584146218. 2
485584146219. 3
485584146220. 4

Question Number : 221 Question Id : 48558436556 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




In1 the context of food safety, mtentional or acewdental addition of impwre meredicnts that alters the propertics
and diminishes the quality of food is known as

1. Contamination
2. Toxaeaty

Adulteration

L

4, Hazard

Options :

485584146221. 1
485584146222.2
485584146223. 3
485584146224. 4

Question Number : 222 Question Id : 48558436557 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fortification as an mtervention is wsed under which of the following strategies to combat public nutition
problems 7

1. Nutrient based strategy

2. Medicinal strategy

3. Dhet based strategy

4. Supplement based strategy

Options :

485584146225. 1
485584146226. 2
485584146227. 3
485584146228. 4

Question Number : 223 Question Id : 48558436558 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following 15 referred to as "Hidden Hunger™ in the context of nutritional probleims?
1. Micronutnent deficiencies

2. Maloutirtion

3, Stuntme

4, Wasting

Options :

485584146229. 1
485584146230. 2
485584146231. 3
485584146232. 4

Question Number : 224 Question Id : 48558436559 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following govermment body framed the National Nutriion Policy (NNP) of India in the year
19937

1. Department of Women and Child Development
2. Ministry of Health and Family Welfare

 Drepartinent of Scienee and Technology

Lad

4. Munstry of Consumer Affairs

Options :

485584146233. 1
485584146234. 2
485584146235. 3
485584146236. 4

Question Number : 225 Question Id : 48558436560 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arranges the orgamzanonal shructure [ luerarchy followed by honsekeeping departiment from top to bottom,

AL Assistant hovsekespe
B. Eoom attendant

C. Executive housekeeper
D. Houzemen

E. Floor suspervisor

Choose the correct answer from the options grven below:
1. AB.C.D.E
2CAEDB
3JAWCEBD
. C.A.E.B.D

Options :

485584146237. 1
485584146238. 2
485584146239. 3
485584146240. 4

Question Number : 226 Question Id : 48558436561 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Give the corvect sequence of different stages of apparel production.
A, Fimshing and packamng
B. Procurement and inspection of raw material

C. Laying and eutting of fabase / matenal
D). Assembly of the product

Choose the correct answer from the options grven below:

1.A. B, C, I}
2B.AC.D
iDABC
1. B C, DA

Options :

485584146241. 1

485584146242. 2

485584146243. 3
485584146244. 4



Question Number : 227 Question Id : 48558436562 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arvange the prven steps of nutritional care durmng illness m the correct sequence.

AL Assessme nnatritional status

B. Plannng and prionhising nutrition intervention(s)

C. Diagnosis of mutritional problems

D Malong changes m the nubrihional care owteomes. 1t necessary
E. Evalnating outritional care outcomes

Choose the correct answer from the options given below:
LC.B.AD.E
2C.EBAD
FACBED
1A CB.IDLE

Options :

485584146245. 1
485584146246. 2
485584146247. 3
485584146248. 4

Question Number : 228 Question Id : 48558436563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s WOT a department'sector i hospitality induastry?
1. Becrurtment and a‘.af}:'.n;
"

2. Entertanument and recreation

. Accotunodation or front office

Tl

4. Food and beverage service

Options :

485584146249. 1
485584146250. 2
485584146251. 3
485584146252. 4



Question Number : 229 Question Id : 48558436564 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following falls under the category of rewards given to sustam high perfonmance employees inan
orgamsation 7

A, Pard holidays

B. Tax incentives

C. Fiancial packages for children's education
[, Financial compenzation like driver's wages
E. Dusability insurance

Choose the correct answer from the options grven below:

1.A Cand E only

2. A.C and D only

A

A.D md E only
4. B. C and D only

Options :

485584146253. 1
485584146254.2
485584146255. 3
485584146256. 4

Question Number : 230 Question Id : 48558436565 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the followmg 1s NOT a function of hunan resourcestalent management?
1. Marketing management
1. Getting the beat amployees
3, Petention and redressal
4, Tramnmng nwd developmg smployess
Options :

485584146257. 1
485584146258. 2



485584146259. 3
485584146260. 4

Question Number : 231 Question Id : 48558436566 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A dizt can be modified to meet the medical neads of a patient throush which of the follewing?

A, Changing consistency and’or texture

B. Adding supplements

C. Inerense or decrease in the mnount of ona or more notrients
D, Increaze or decrease in calorie miake

E. Making an all fivat diet

Choose the correct answer from the options given below:
1. A.B and E only
2 A.Cand E only
3. B. C ond D only
4, A, Cand D only

Options :

485584146261. 1
485584146262.2
485584146263. 3
485584146264. 4

Question Number : 232 Question Id : 48558436567 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Shieva wants to design a dress by meorporating ihythn design principle. Which of the following can WOT be
nsed fo create rhythm?

1. Use of contrasting colowrs

[ 8]

C Cordation

. Badiation

[}

L

. Parallelism

Options :
485584146265. 1



485584146266. 2
485584146267. 3
485584146268. 4

Question Number : 233 Question Id : 48558436568 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

[dentify the aspects relatng to care aud mamtenanee of fabrics:

A, Keeping the materinl free of physical damage

B. Dhscard clothes if any damage occurs

C. Refreshing or retnnme the appearance by remnoving stains and dirt
D). Retaiming the textural and visual charactenistics

E. Changing the visnal charactenstics

Choose the correet answer from the options given below:

1. A B and C only

| o)

.B. C and D only

Ll

C,Dond E only
4. A. C and D only

Options :

485584146269. 1
485584146270. 2
485584146271. 3
485584146272. 4

Question Number : 234 Question Id : 48558436569 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following does WOT fall under the category of stramelt lines 7
1. Vertical
2. Zig-zag

. Horizontal

T

4

. Dhagonal

Options :



485584146273. 1
485584146274. 2
485584146275.3
485584146276. 4

Question Number : 235 Question Id : 48558436570 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Miatels List [ watl Last 11

LIST 1 LIST 1
(Proceased feods) [Examples)

A [Preserved foods [ [Low sodmaen zald
B. PManufectured foods| 11 PCamed fruats
. Formulared foods | 11 'J.-"apmii

D. Pvledical foods [V [lce ceeams

Choose the correct answer from the optiona given below:
1. A-I, B-II, C-II1, D-TV
2. A-IL B-IIL C-L D-IV
JOACL B-IL C-L D-IW
4, A-IL B-IIL C-IV, D-]

Options :

485584146277. 1
485584146278. 2
485584146279. 3
485584146280. 4

Question Number : 236 Question Id : 48558436571 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mlateh List T with List 11

LIST 1 LIST
{Terps] (Explanation)

einie probabilicy that harm o injury will resnls when sobstance 5 oot vsed 10 prescabed
innner and quaniity

Focd Oealine | L Enj-:ura.n-:: that food will ot cavss any hanm w the consumers

Toxicity I

[Fiood Safety L flapaciny of a substance 10 produce harm o inguiy of aov ked wmder any conditicans
Hazesd IV, JAttibuses that influence a poeduct's valus 1o consumers

=] Lol = P

Choose the correet answer from the options gven below:
1. ATV, BIILL CeL DI
2. A-L B-ILL C-IOE D-IW
3 AL BIV CHLL DRI
4, A-IV, B-II, C-I1, D-]

Options :

485584146281. 1
485584146282.2
485584146283. 3
485584146284. 4

Question Number : 237 Question Id : 48558436572 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with Last 11

Liad 1 LEn-mml;Jﬁiil;lnn tools
{Extension Projects)
nsed)
A [REE I Patellite
BE. [SEWA 1 [Print media
C. |Preject Village Chhatars | 11 JCampaign
D. [EDUSAT IV, iICT

Choose the comect answer from the options grven below:
1AL B-LL C-IW, DeIIT
2. ATV, B-I C-IT1. D-T1
3 A BTN, C-I1L To-
4. A-Il, B-IIL, C-1. D-IV

Options :



485584146285. 1
485584146286. 2
485584146287. 3
485584146288. 4

Question Number : 238 Question Id : 48558436573 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mlately Last T with Lzt 1T

LIST1 LISTH
(Terms) {Deseriprion)
A Duality Acsuraics [. [Process of unplamentation and mondtonmg of quality systerms like TOM, IE0)
B. [Duelity coatrol O. [Process of problem solving weth the purpose of getime a 'zero-defect’ product
| C. [Quality Management I1. [Charactzristics of the product that are given by the buver or desired by the consumer
D, [Epecifications v E'Il:ll:-'tt‘.:*'.- of preventive problem management

Choose the correct answer from the options given below:

1. A-IV, B-IL, C-[, D-III

| )

A, B-L CAIL D-IT1

(]

AV BAIL C-T, D
4, A-L, B-Il, G-IV, D111

Options :

485584146289. 1
485584146290. 2
485584146291. 3
485584146292. 4

Question Number : 239 Question Id : 48558436574 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Blately Last T wath Last 11

LIST | LIST 0
(Dresignations} iDuties)
[Head vhatter [ IR.ege:".'e-;. TEgETers aaud 255120 100K [0 Fu8sls

e i de-cuisane] 11 fSuperviscds for some sectaons of the Kitclhen
Foecaptionsst | 111 |L=ad a team of waiters/stewards
Ko hed-de-parives | IV [Planome, orzanising and contrelling the kitchen operations

= I 1 B

Choose the correct answer from the options green below:

1. A-II1, B-IV, C-I, D1

| )

AL BeIV, CIII, D=1

-A-LBA-IL C-IOLL D-IV

[

4, A-IV, B-I1, C-I, D111

Options :

485584146293. 1
485584146294. 2
485584146295. 3
485584146296. 4

Question Number : 240 Question Id : 48558436575 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Matel List T watls Last 11

LIST 1 ST
(Programme) {Target group)
A JICDE [ Children under EE years of aga
B. 505 I Wollege goma stondeats
. Boecial homes | 111 KChaldren below six vears of age
I |if‘-'35 ITﬁ"E:cdr abandoned children

Choose the correct answer from the options grven below:
1. A-I, B-IV, C-II, D-1
2. A-IV, B-III. C-I. D-II
JOACIL B-IV. C-L D-I
4, A-IV, B-I11. C-IL. D-1
Options :

485584146297. 1
485584146298. 2



485584146299. 3
485584146300. 4

Sub-Section Number : 2
Sub-Section Id : 4855842700
Question Shuffling Allowed : No
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Question Key Details :
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Comprehension Compl

Read the passage carefully. Attempt Question

Angmmwadi Centers (AWCs) are the most comimon and publicly available facilibies, imtially constituted in
1975 to strengthen the public health system by providing immmunization and health check-ups, and later to
provide supplementary nutrition non-formal pre-school education and day-care.

The two key slements of early childhood development weluds education and health, A chuld's sarly years (0 to
8 years) form the foundation of all learning and are therefors the most extracrdinary period of development in
s cluld's Iife, Fescarch has shown that greater cognitive abilitics and being developmentally on track with
liveracy and muneracy in childhood provide for better lcaming in school and higher educational attaimnment,
leading to major social and economic gains for society n the long run. Simularly. providing children with a
nurturing environment in early vears, with adequate mutrition. hyveiene, protection and responsive stmmlation,
boosts healthy chuldhood development and delivers positive outeomes.

The Anzanwadh centers were started in which vear m India?
1. 1975
2, 1980
3, 1982
4, 1984

Options :

485584146301.
485584146302.
485584146303.
485584146304.

AW N =
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Comprehension Compl




Read the passage carefully. Attempt Question

Angmmwadi Centers (AWCs) are the most comimon and publicly available facilibies, imtially constituted in
1975 to strengthen the public health system by providing immunization and health check-ups, and later to
provide supplementary nutrition non-formal pre-school education and day-care.

The two key slements of carly childhood development weluds education and health, A cluld's sarly years (0 1o
8 years) form the foundation of all learning and are therefors the most extracrdinary period of development in
s cluld's life. Rescarch has shown that greater cognitive abilitics and being developmentally on track with
literacy and muneracy in childhood provide for better leaming in school and higher educational atamment,
leading to major social and economic gains for society mn the long run. Similarly, providing childrenwith a
nurturing environment in early vears, with adequate mutrtion. hyveiene, protection and responsive stimmlation,
boosts healthy childhood development and delivers positive cuteomes.

Identify the functions of the Anzanvadi centres from the following;

A, Provicling immuisation

B. Supplementsry nutntion

C. Non-fermal pre-school education

D. Supporting cluldren in doing hame-work after school

Choose the comrect answer trom the options given below:

1. B, Cand DD only

Fd

AL B and D only

ad

A Boand C onldy
4. A D and C only

Options :

485584146305. 1
485584146306. 2
485584146307. 3
485584146308. 4
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Read the passage carefully. Attempt Question

Angmmwadi Centers (AWCs) are the most comimon and publicly available facilibies, imtially constituted in
1975 to strengthen the public health system by providing immunization and health check-ups, and later to
provide supplementary nutrition non-formal pre-school education and day-care.

The two key slements of carly childhood development weluds education and health, A cluld's sarly years (0 1o
8 years) form the foundation of all learning and are therefors the most extracrdinary period of development in
s cluld's life. Rescarch has shown that greater cognitive abilitics and being developmentally on track with
literacy and muneracy in childhood provide for better leaming in school and higher educational atamment,
leading to major social and economic gains for society mn the long run. Similarly, providing childrenwith a
nurturing environment in early vears, with adequate mutrtion. hyveiene, protection and responsive stimmlation,
boosts healthy childhood development and delivers positive cuteomes.

The two key elements of carly cluldhood development are

1, Hutrition and nmmumsation
2. Health and education

. Seheal readiness and health

T

4. Doy eare and ereche

Options :

485584146309. 1
485584146310. 2
485584146311. 3
485584146312. 4

Question Number : 244 Question Id : 48558436579 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension Compl

Read the passage carefullyv. Attempt Question

Anganwadt Centers (AWCs) are the most common and publicly available facihities, imtially constituted in
1975 to strengthen the public health system by providing immunization and health check-ups, and later to
provide supplementary nutrition non-formal pre-schoo] education and day-care.

The two key slements of carly childhood development weluds education and health, A cluld's sarly years (0 1o
8 years) form the foundation of all learning and are therefore the most extracrdinary period of development in
s cluld's life. Rescarch has shown that greater cognitive abilitics and being developmentally on track with
literacy and muneracy in childhood provide for better leaming in school and higher educational attamment,
leading to major social and economic gains for society m the long run. Similarly, providing childrenwith a
nurturing environment in early vears, with adequate mutrtion. hyveiene, protection and responsive stimmlation,
boosts healthy childhood development and delivers positive cuteomes.



The period of lavmne the foundation of all learming and rapid development dunng early childhood development
1B

1. 3 to & years
2. %o § years
3, Lo d vears
4. 0 to 2 vears

Options :

485584146313. 1
485584146314.2
485584146315. 3
485584146316. 4

Question Number : 245 Question Id : 48558436580 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Read the passage carefullyv. Attempt Question

Anganwadt Centers (AWCs) are the most common and publicly available facihities, imtially constituted in
1975 to strengthen the public health system by providing immunization and health check-ups, and later to
provide supplementary nutrition non-formal pre-schoo] education and day-care.

The two key slements of carly childhood development weluds education and health, A cluld's sarly years (0 1o
8 years) form the foundation of all learning and are therefore the most extracrdinary period of development in
s cluld's life. Rescarch has shown that greater cognitive abilitics and being developmentally on track with
literacy and muneracy in childhood provide for better leaming in school and higher educational attamment,
leading to major social and economic gains for society m the long run. Similarly, providing childrenwith a
nurturing environment in early vears, with adequate mutrtion. hyveiene, protection and responsive stimmlation,
boosts healthy childhood development and delivers positive cuteomes.




To boost healthy chuklhood and gettme positive outcomes in ECCE, which of the followimg needs: to be
provided?

A. Adequate nutnition

B. Responsive stimulation
. Hygiens

D). Toys and zames

E. Immumisatiod

Choose the correct answer from the optons given below:
1.A. B and C only
2. A, B and D only
3, B. C and D only
4. C.D and E only

Options :

485584146317. 1
485584146318. 2
485584146319. 3
485584146320. 4

Sub-Section Number : 3
Sub-Section Id : 4855842701
Question Shuffling Allowed : No
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Read the passage carefullyv. Attempt Question

Consumers not ouly purchase products but a whole gamnt of services like those of banks, other financial
mstihrtions. arrlines and travel agencies: hospitals and other madical practitioners; public ntilities hilke garbage
collection. cleanlmess and mantenance of roads. puks, ete; electrety water telephione. post and telegraph:
edueational imstitntions and o oo

Consumers face a number of problems with regard to these services like excessive billing. being charged but
not delivering the service, pap between promsed level of service and service that 15 delivered. overstatmg the
service attributes and enticing the consumer, making false clams and so on.

Giap between service delivery and external commmmication 13 8 consumer 1s51e. Consumer expectations are
affected by promises made by the service provider m lus external commmumueation whach may be through
brochanes. advertisemnents. personal selling etc. E.g. 1f a resort hotel brochure shows a beautiful room but the
geats mrive and find the room to be cheap and very ordinary, Many a times people make advance bookings
based on the brochures or secing the website or some other adverhizements. In such bookings sometimes
pcbvanee also has to be pand. If the customer does not like the room ambience he may be left with Iittle chnce
since refunds are not given by many hotels.

Many private educational institufions assure jobs to students after completion of conrse which eventually does
not happen, Whieh seivies-related consumer problem is depieted m this example 7

1. Exceasive hillings
2. Being charged but not delivening the service

. Malang false clanmns

L

4, ﬂﬁ.‘r:rstaﬁ.ug the s=rvice attnbutes

Options :

485584146321. 1
485584146322.2
485584146323. 3
485584146324. 4
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Read the passage carefullyv. Attempt Question

Consumers not ouly purchase products but a whole gamnt of services like those of banks, other financial
mstitntions, arlines and travel agencies: hospitals and other madical practitioners; public ntilinies hike garbage
collection. cleanlmess and mantenance of roads. puks, ete; electrety water teleplione. post and telegraph:
educational institutions and so on.

Consumers face a mumber of problems with regard to these services like excesarve billing, being charged but
not delivering the service, pap between promsed level of service and service that 15 delivered. overstatmg the
service attributes and enticing the consumer, making false clams and so on.

Giap between service delivery and external commnmmication 13 8 consumer 15512, Consumer expectations are
affected by promises made by the service provider m lus external commmumueation whach may be through
brochanes. advertisemnents. personal selling etc. E.g. 1f a resort hotel brochure shows a beautiful room but the
peats arrive and find the room to be cheap and very ordinary. Many o tiines people make advance bookings
based on the brochures or secing the website or some other adverhizements. In such bookings sometimes
pcbvanee also has to be pand. If the customer does not like the room ambience he may be left with Iittle chnce
sinee refunds are not gryen by many hetels.

Which of the following 15 WOT an example of services offered to consumers 7

1. Cotsumer durables

| ]

. Bankmng serices
i Awrlines

4, Educational institutions

Options :

485584146325. 1
485584146326. 2
485584146327. 3
485584146328. 4

Question Number : 248 Question Id : 48558436583 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2




Read the passage carefullyv. Attempt Question

Consumers not ouly purchase products but a whole gamnt of services like those of banks, other financial
mstitntions, arlines and travel agencies: hospitals and other madical practitioners; public ntilinies hike garbage
collection. cleanlmess and mantenance of roads. puks, ete; electrety water teleplione. post and telegraph:
educational institutions and so on.

Consumers face a mumber of problems with regard to these services like excesarve billing, being charged but
not delivering the service, pap between promsed level of service and service that 15 delivered. overstatmg the
service attributes and enticing the consumer, making false clams and so on.

Giap between service delivery and external commnmmication 13 8 consumer 15512, Consumer expectations are
affected by promises made by the service provider m lus external commmumueation whach may be through
brochanes. advertisemnents. personal selling etc. E.g. 1f a resort hotel brochure shows a beautiful room but the
peats arrive and find the room to be cheap and very ordinary. Many o tiines people make advance bookings
based on the brochures or secing the website or some other adverhizements. In such bookings sometimes
pcbvanee also has to be pand. If the customer does not like the room ambience he may be left with Iittle chnce
sinee refunds are not gryen by many hetels.

Many a tumes, we are requured to pay a basic telephone rental charge wrespective of it being out of crder,
Which service related to canswmer problem is depicted in this example?

1. Exceasive billing

. Being charged bt not delivering the service

Fd

. Malang false clamns

L

4, ﬂv:mlaﬁug tli= service attribut=s

Options :

485584146329. 1
485584146330. 2
485584146331. 3
485584146332. 4
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Read the passage carefullyv. Attempt Question

Consumers not ouly purchase products but a whole gamnt of services like those of banks, other financial
mstitntions, arlines and travel agencies: hospitals and other madical practitioners; public ntilinies hike garbage
collection. cleanlmess and mantenance of roads. puks, ete; electrety water teleplione. post and telegraph:
educational institutions and so on.

Consumers face a mumber of problems with regard to these services like excesarve billing, being charged but
not delivering the service, pap between promsed level of service and service that 15 delivered. overstatmg the
service attributes and enticing the consumer, making false clams and so on.

Giap between service delivery and external commnmmication 13 8 consumer 15512, Consumer expectations are
affected by promises made by the service provider m lus external commmumueation whach may be through
brochanes. advertisemnents. personal selling etc. E.g. 1f a resort hotel brochure shows a beautiful room but the
peats arrive and find the room to be cheap and very ordinary. Many o tiines people make advance bookings
based on the brochures or secing the website or some other adverhizements. In such bookings sometimes
pcbvanee also has to be pand. If the customer does not like the room ambience he may be left with Iittle chnce
sinee refunds are not gryen by many hetels.

Which of the following 15 NOT an example of aid wsed by service providers for extemmal communication 7

1. Brochures

| B

. Board mesting

. Advertisements

T

4. Personal selling

Options :

485584146333. 1
485584146334. 2
485584146335. 3
485584146336. 4
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Read the passage carefullyv. Attempt Question

Consumers not ouly purchase products but a whole gamnt of services like those of banks, other financial
mstitntions, arlines and travel agencies: hospitals and other madical practitioners; public ntilinies hike garbage
collection. cleanlmess and mantenance of roads. puks, ete; electrety water teleplione. post and telegraph:
educational institutions and so on.

Consumers face a mumber of problems with regard to these services like excesarve billing, being charged but
not delivering the service, pap between promsed level of service and service that 15 delivered. overstatmg the
service attributes and enticing the consumer, making false clams and so on.

Giap between service delivery and external commnmmication 13 8 consumer 15512, Consumer expectations are
affected by promises made by the service provider m lus external commmumueation whach may be through
brochanes. advertisemnents. personal selling etc. E.g. 1f a resort hotel brochure shows a beautiful room but the
peats arrive and find the room to be cheap and very ordinary. Many o tiines people make advance bookings
based on the brochures or secing the website or some other adverhizements. In such bookings sometimes
pcbvanee also has to be pand. If the customer does not like the room ambience he may be left with Iittle chnce
sinee refunds are not gryen by many hetels.

A family had gone on vacation for a moith but recerved electricity bill for the same month munme o several
thousands. Which service related consumer problems 1s depieted in this cas<?

1. Exceasive halling
2. Being charped but not delivering the service
3. Makang false ¢lains

4, ﬂv:mlaﬁ.ug tl= service attribut=s

Options :

485584146337. 1
485584146338. 2
485584146339. 3
485584146340. 4
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Question Number : 251 Question Id : 48558436586 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List T wath Last I1
LIST 1 LIET 11
Dance Artisis
A |Bharatnamvam | [ [Sevita Mahia
B. [Odisq 11, Yautasa Dewi
. [Kathak 11 |¥amiini Erishoamortay
0. Pampun IV Panukta Pamgrahs

Choose the carrect answer from the options given below:
1. A-IIL B-IW, C-I1, -1
2. A-IIL B-IL C-IV, D-I
AL B-IVO CHIIL D-]
4, A-I1, B-I, C-IV, DuIII

Options :

485584146341. 1
485584146342.2
485584146343. 3
485584146344. 4

Question Number : 252 Question Id : 48558436587 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




DD Gyan Darshan is an educational media imitiative of Mimstry of Education in collaboration with-

A, Mumustry of Infermation and Broadeasting

B. Prasar Bhart:

. ISRO

D, IGHOU

E. Miunstiy of Information and Commumeation Technology

Choose the correct answer from the options given below:
1. A B and C only
2 A, Cand D only
3 A B.Cand D only
4. B. T and E coly

Options :

485584146345. 1
485584146346. 2
485584146347. 3
485584146348. 4

Question Number : 253 Question Id : 48558436588 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Match List T with List 11

LIST 1 LIST 1T
.'l. !ﬁ:m'_np:d I 'ﬂmmll'. 13-:!-«:“.!5 ﬂ.:h:l E:\ID'LI:I'I.I:I."':iﬂ.I E.‘.li.r..'i
E. pimi [ fualicy edacation for sl
C. |Black 11 |Deenestic violence and digraty
D. Hichki IV, [Right to a dignifizd life and knowledgd]

Choose the comect answer from the options given below:
1. A-IIL B-L. C-IV, D-II
2 AL BAIL C-IV. D-IT
AL B-L CHIL D-IY
4, A, B-II, CaIW, D-]
Options :
485584146349. 1

485584146350. 2
485584146351. 3



485584146352. 4

Question Number : 254 Question Id : 48558436589 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
In1 the story Tdgah® the protagomst Hamid buys a fror from the faur,

1. pair of tongs. lus grandmothes

2. pair of tongs, his mother

ad

celay doll, himself
4, elay doll, lns grandmother

Options :

485584146353. 1
485584146354. 2
485584146355. 3
485584146356. 4

Question Number : 255 Question Id : 48558436590 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Who s the first female Indian scientist to recerve a PLD degree in a seientific disciphne?

1, Kamala Sohone

I-3

. Janakt Aminal

T

. Amandibai Gopalrao Josh
4. Auma Chaterjes

Options :

485584146357. 1
485584146358. 2
485584146359. 3
485584146360. 4

Question Number : 256 Question Id : 48558436591 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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|Comprehension |MCQ

In the film, 'Chak De Tndia', which of the following themes was not addressed?

1. Mational integration

2, Child labenwr

ad

» Women Empowennent
4, Religioue Harmony

Options :

485584146361. 1
485584146362. 2
485584146363. 3
485584146364. 4

Question Number : 257 Question Id : 48558436592 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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Correct Marks : 5 Wrong Marks : 1
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The stones by Premchand prunaniby deal with:

. Challenges faced by clnldren

. =s11es related to women

. strugeles of the professonal elass

. stmiggles of the miral poor

, the character of villages in medieval Tndia

mgom3

Choose the most appropriste answer from the options given below:

1. B. C and E only

| o)

.. Aand E only

Ll

C, D and A only
4. A.B and D only

Options :

485584146365. 1
485584146366. 2
485584146367. 3
485584146368. 4
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The ¢entral theme of the Hindi film, Dangal’ 1s:

L. Trban=rural social divide in the state of Harvana

2. Women in a male- dominated sport

3. Relationship between siblings
4. Mother - daughter relationship

Options :

485584146369. 1
485584146370. 2
485584146371. 3
485584146372. 4

Question Number : 259 Question Id : 48558436594 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Tazore's alternate school 'Shantiniketan’ did NOT promote:

1. Op=n classarooms

| ]

Simplicity of the learning process

. Temching m the mother tonge

L

4. Duscipline m chilaren

Options :

485584146373. 1
485584146374. 2
485584146375. 3
485584146376. 4
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Which of the following is not & Children's novel?
1. Alumsa
2, Charlie and the Chocolate Factory
5. A Thouzand Splenclid Suns

4, Womdes

Options :

485584146377. 1
485584146378. 2
485584146379. 3
485584146380. 4
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Which among the following are Pros' of 3G Technology?

A, Grester Transnussion Speed
B. Overcrowded Radio frequency
C. Inerensed connectivity

D, Wider Coverage

E. Hizh Energy consugnption

Choose the correet answer from the options given below:
1. B. Cand E cnly
2 A.Cand D only
3. B. C and D only
4. A.Cand E only

Options :

485584146381. 1
485584146382. 2
485584146383. 3
485584146384. 4

Question Number : 262 Question Id : 48558436597 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The Deep web on miternst which is not aceessible by the repular szarch engines hike Google Bing 1 known as;
1. Black web

2. Browm weh
i. Dty web

4, Dk welb

Options :

485584146385. 1
485584146386. 2
485584146387. 3
485584146388. 4

Question Number : 263 Question Id : 48558436598 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I order to foster seientific temper thoough the means of exciting educational expenences, a teacher can take
her stud=nts to a;

1. Museam
2. Music program

. Planetanum

Lad

4. Ant gallery

Options :

485584146389. 1
485584146390. 2
485584146391. 3
485584146392. 4

Question Number : 264 Question Id : 48558436599 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Jantar Maniar is an assembly of stone-bwlt astronomical mstruments, designed to be vsed with naked eyes. A
~vig1t to Jantar Maotar ean help students to learn how

1. astronomy was a letsure actrvity of people in the past.

2. astronomy was practised in buildings made with red stones,

3. people measured time when there were no stendard anstruments 1o measure the passng of time,
4. people measured tune in those civilizations m which stones were vsed te build everytlung,

Options :

485584146393. 1
485584146394. 2
485584146395. 3
485584146396. 4

Question Number : 265 Question Id : 48558436600 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The first conmtry 10 have entered the Mars orbat i its first attenpt 15

1, USA

I

China

L]

. India

4, Bussia

Options :

485584146397. 1
485584146398. 2
485584146399. 3
485584146400. 4

Question Number : 266 Question Id : 48558436601 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The projeet of NASA' tareeting the landing of first woman women astronavt’s on moon 15 known as:
1 B0
2. ARTEMIS
3. MISMOOMN
4, Moon opposition

Options :

485584146401. 1
485584146402. 2
485584146403. 3
485584146404. 4

Question Number : 267 Question Id : 48558436602 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s NOT true: The twmme points of the eraph of a function ;

1. Bepresent local moxima and local minmma

I3

. Represent Absalute maxima and Absohite miniima

. Bepresent point of mflexion

T

4, Represent neither logal maxims neor loesl munuma

Options :

485584146405. 1
485584146406. 2
485584146407. 3
485584146408. 4

Question Number : 268 Question Id : 48558436603 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Any teaching activity which puts before the stadents the real problams, that they have to solve for themselves,
problems for which thers are no casy solutions m any boak

1. brings them close to guide books
2. makes them skilled

3. erafis their activity

4. sharpens thewr mtelligence

Options :

485584146409. 1
485584146410. 2
485584146411.3
485584146412. 4

Question Number : 269 Question Id : 48558436604 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A mathematics teacher told the students that her laptop and phone can 1o out of charee mdependently of sach
other. The probabality that her phone 15 out of charge 12 0.2 and the probabality that thev are both out of charge
i5 .06, Find the probability that her laptop is out of charge.

1. 056

| ]

04
3. 0.3

4, 014

Options :

485584146413. 1
485584146414.2
485584146415.3
485584146416. 4

Question Number : 270 Question Id : 48558436605 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




By explaiming the thecry of probability a teacher told that "For a particular E; we can use a spe<ial formula.”
Which theorem 1= he/she teaching?

1. Conditional Probabihity Theorem

2, Multiplhication Theorem

3. Baye's Theorem

4, Total Probabalsty Theorem

Options :

485584146417. 1
485584146418. 2
485584146419. 3
485584146420. 4

Question Number : 271 Question Id : 48558436606 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If a cluld draws a tree by observing the rees m her surrouncings and her teacher intredoced seale drawings fo
her, the expenience can help her to develop a

1. sense of acsthetics

[ 8]

. senee of propertion
3. sense of perapective
4, sense of transference

Options :

485584146421. 1
485584146422.2
485584146423. 3
485584146424. 4

Question Number : 272 Question Id : 48558436607 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A lot of school children find mathematies very diffienlt and social sciences sasy, One of the reasons for then
pereeptive 15 that

1. mathematics demands expression

2. mathematics 15 not common knowledze

L

. mathematics demands precision
4. mathsmaties myolves concrete Inage:

Options :

485584146425. 1
485584146426. 2
485584146427. 3
485584146428. 4

Question Number : 273 Question Id : 48558436608 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Wational Gallery of Modern Art (NGMA) 15 sstnated mn
L. London
2. Calaformia
3. Kolkata
4. New Della

Options :

485584146429. 1
485584146430. 2
485584146431. 3
485584146432. 4

Question Number : 274 Question Id : 48558436609 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which School of Art was also known as Gracco Budhist Scheol of Ait?
1. Amwavat: School of Art
2. Mathura School of Art
3. Gandharn School of Ant
4, Bengsl School of Art

Options :

485584146433. 1
485584146434. 2
485584146435. 3
485584146436. 4

Question Number : 275 Question Id : 48558436610 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What was the profession of Partha Mittes?
1. Pauter

2. Seulptor

3. Art Historian

1, Architect

Options :

485584146437. 1
485584146438. 2
485584146439. 3
485584146440. 4

Question Number : 276 Question Id : 48558436611 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




'Contemporary Art i India ; A perspective’ 15 a book wratten by

1. Prom Nath Mago

| ]

. Jasleen Dhanija
3 K. R Srimvasan

4, Dewi Prasad

Options :

485584146441. 1
485584146442.2
485584146443. 3
485584146444. 4

Question Number : 277 Question Id : 48558436612 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A echoigus of portraving an object to be closer than it actually s, or having less depth or distace, 15 called

1. Depth of field
2. Foreshoremng

3. Focusing

b=

Tlhsteation

Options :

485584146445. 1
485584146446. 2
485584146447. 3
485584146448. 4

Question Number : 278 Question Id : 48558436613 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The artwork "Santhal Famuily' made by Rambmker Vaips 15 wlhich medinm! form

1. Onl Pamting

I3

. bural
A, :‘:-cll.[|:-ll|.1e
4. Monograph

Options :

485584146449. 1
485584146450. 2
485584146451. 3
485584146452. 4

Question Number : 279 Question Id : 48558436614 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with Last 11

LIST I LIST 11
-.'l_FnLru::ire 13!1.1'."!:|-1.I.I| mck I ELHIE

BE. [Exmusive igneons rock| T [Basak

. fsedimeatary rock 1. porame

D, Pistamorphic rock IV, [Lime stone

Choose the comect answer from the options given below:
L. A-IIL B-IL C-I%, D]
2 AT BAIIL CAITLL D-TV

SASTV BAIIL -1, DA

s

4. AL B-IIL. C-l. D-IV

Options :

485584146453. 1
485584146454.2
485584146455. 3
485584146456. 4

Question Number : 280 Question Id : 48558436615 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The content of teaching social sciences should am at rasing stucdents” awareness throweh
1. questiomng of tamihar social reality
2 enacting of fanmliar social reality
3, developms a neutral perspeetive on society
4. transuitting an idea of socicty

Options :

485584146457. 1
485584146458.2
485584146459. 3
485584146460. 4

Question Number : 281 Question Id : 48558436616 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who wrote the book "History of British India™ 7
1. James Nl

2. James Bamml

[F =]

. Warren Hastings

4, Cornwallis

Options :

485584146461. 1
485584146462. 2
485584146463. 3
485584146464. 4

Question Number : 282 Question Id : 48558436617 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The school level social sciences encompass comeerns of society and melide a wide range of content
drawn from various disgiplines.

1. unatary
= averarching

dhverse

L

4. sweeping

Options :

485584146465. 1
485584146466. 2
485584146467. 3
485584146468. 4

Question Number : 283 Question Id : 48558436618 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following subjects has replaced 'civies' m the school syllabus?
1. Civilization
Social and Political Life

. Economic and Social Life

R

4. Nationalisim

Options :

485584146469. 1
485584146470. 2
485584146471. 3
485584146472. 4

Question Number : 284 Question Id : 48558436619 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Today, if a feacher wants to teach the importance of good deeds and practicimg non-violence. she can nse the
tollowing as a resource:

1. Ambedkar's writings
2. Jama teachings

. Purame Literafure

()

L

. Akhamama

Options :

485584146473. 1
485584146474.2
485584146475. 3
485584146476. 4

Question Number : 285 Question Id : 48558436620 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Literary devices such as sumile and metaphor are nsed w which of the followimng?
1. Prose

2. Poehry

3. Grammar

1, Dhama

Options :

485584146477. 1
485584146478. 2
485584146479. 3
485584146480. 4

Question Number : 286 Question Id : 48558436621 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Mian 15 @ born cluld, his power 15 the power of growth,’
What 15 the meaning of this sentence?
1. Humans should remam stagnant

2. Humans should refrain from adding to sonrees of lnowvledge

. Inellectual and comutive regression are important characteristies of humans

R

4. Intellectual and cogmitive development are important charactenisties of human.

Options :

485584146481. 1
485584146482.2
485584146483. 3
485584146484. 4

Question Number : 287 Question Id : 48558436622 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Booker Prize 2022 was awarded to which Indian novel?

1. The Alchemust

| ]

. & Tenhb of Sand

L]

. Tram to Palssian

RN

. O Hungred Years of Solitids

Options :

485584146485. 1
485584146486. 2
485584146487. 3
485584146488. 4

Question Number : 288 Question Id : 48558436623 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What ars the challenges faced by smudents while learmmg Enelish in India?

A, Lack of tramed teachers

B. Lack ot an enabling language environment
C. Rofe memonsation of poems

D. Objective way of testing language slalls

E. Lack of proper teaching - learning materials

Choose the correct answer from the options grven below:

1. A, B. Conly
2.B.C.D only
jCALB.C D only
1. A.B.C.Dand E

Options :

485584146489. 1

485584146490. 2

485584146491. 3
485584146492. 4

Question Number : 289 Question Id : 48558436624 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What is a biography?

1. An acecount of a person whitten by oneseli

I

. An account of a persou written by others.

LS

. A book of biology.

4. A hustonieal account,

Options :

485584146493. 1
485584146494. 2
485584146495. 3
485584146496. 4

Question Number : 290 Question Id : 48558436625 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Hew can grammar books be modified to pumimise the difficulties learners face wiile leaming pramman?

A, By teaching gramumar in context

B. By mcluding pactures and illustrations
C. By giving more prachice and examyples

D). By focusing only on the rules

E. By translating m dafferent languages

Choose the correet answer from the optiens grven below:

1. A B. C only
2. A D E only
3, C.D.E ouly
4.B. C. D only

Options :

485584146497. 1
485584146498. 2
485584146499. 3
485584146500. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
4855842703
No

null

Question Number : 291 Question Id : 48558436626 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

At the wpper primary level, the emphasis 15 on engaming the learner in leaming principles of science through
famniliar expenences. working with hands to design sunple technological umits and modules and continning to

learn more on environment and heakth through activities and swrveys.

Asa serence teacher, vou will agree that scicotific concepts are leamt batter if leamers explore them tlroueh
sctivitics and expernnents. Leamners should be given opportumity to explore science m their everyday
experiences. You should engags leamners (preferably in groups) in meaningful investipations - particnlarly of
the problenis they perceive to be significant snd nnpartant.

As a selence teacher, you should encourage discussions wath the tercher and peers, You can ask your leamers
to pather information from newspapers. knowledeeable persons in the neighborhood. and from easily available
sources and diseuss about them m class with pesrs and teachers.

Raole play. shkats. -::Icupmatn e lenming

strategies should be adopted to snsure larger participation and shanng of

leaming ountcomes, [t is advised that biographical narratives of scientists and inventors can be used, You
should keep m mind that eforts should be continued for development of the process skills of science.




I order to explore the orbits and distribution of elestrons m orbits, which could be the most appropniate

teachung strategy'method?
1. Lechirs

2. Dremonstration

3. Bran=stormung followed by exercise

4. Humerical Practice

Options :

485584146501. 1
485584146502. 2
485584146503. 3
485584146504. 4

Question Number : 292 Question Id : 48558436627 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl

At the upper primary level, the emphasis 15 on engazing the leaner in lenning prnciples of science through
famniliar expenences. working with hands to design sunple technological umits and modules and continning to
lear more on environment and health through activities and suwveys.

Asa serence teacher, vou will agree that scicotific concepts are leamt batter if leamers explore them tlrough
sctivitics and expernnents. Leamners should be given opportumity to explore science m their everyday
experiences. You should engags leamers (preferably in groups ) in meaningful investigations - particnlarly of
the problenis they pereeive to be sigmificant snd nnpartant.

As a selenee teacher. you should encowrage discussions with the tescher and peers, You can ask your leamers
to pather information from newspapers. knowledegeable persons in the neighborhood. and from easily available
sources and diseuss about them m class with pesrs and teachers.

Raole play. shkats. -::Icupmatn e lenming strategies should be adopted to snzure larger participation and sharing of
leaming ountcomes, [t is advised that biographical narratives of scientists and inventors can be used, You
should keep m mind that efforts should be continued Sor development of the process skills of science.

Which would be the most appropniate teaching learmng matenal to explan different types of atomic models?

1. Charts

I

. Pretures

L]

. Video animation

oY

. Black board

Options :




485584146505. 1
485584146506. 2
485584146507. 3
485584146508. 4

Question Number : 293 Question Id : 48558436628 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

At the upper primary level, the emphasis 15 on engaging the leaner in leamning prnciples of science through
famniliar expenences. working with hands to design sunple technological umits and modules and continming to
learn more on enviromment and health through activities and surveys.

Asa serence teacher, vou will agree that scicotific concepts are leamt better if learmers explore them throueh
retivities and experinents. Leamers should be given opportunity to explore science mn their everyday
experiences. You should engags leamers (preferably in groups) in meaningful investigations - particnlarly of
the problenis they pereeive to be significant snd nnpartant.

As a selenee teacher. you should encowrage discussions with the tescher and peers, You can ask your leamers
to pather information from newspapers. knowledpeable persons in the neighborhood, and from easily available
sources and diseuss about them m class with pesrs and teachers.

Raole play. skats. cooperative leamuing strategies should be adopted to snsure larger participation and shanng of

leaming ontcomes. [t is advised that biographical narratives of scientists and inventors can be used, You
should keep m mind that efforts should be continued for development of the process skills of science.

If a teacher s teachome types of sub-atonme particles and thew charges, which conld be the most appropriate
tool for assesment?

1. Ulnit tests
2. Onal test

. A feld project

L

4. Crossword puzzls

Options :

485584146509. 1
485584146510. 2
485584146511. 3
485584146512. 4

Question Number : 294 Question Id : 48558436629 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




At the wpper primary level, the emphasis 15 on engaming the learner in leaming principles of science through
famniliar expenences. working with hands to design sunple technological umits and modules and continning to
learn more on environment and heakth through activities and swrveys.

Asa serence teacher, vou will agree that scicotific concepts are leamt batter if leamers explore them tlroueh
sctivitics and expernnents. Leamners should be given opportumity to explore science m their everyday
experiences. You should engags leamners (preferably in groups) in meaningful investipations - particnlarly of
the problenis they perceive to be significant snd nnpartant.

As a selence teacher, you should encourage discussions wath the tercher and peers, You can ask your leamers
to pather information from newspapers. knowledeeable persons in the neighborhood. and from easily available
sources and diseuss about them m class with pesrs and teachers.

Raole play. shkats. -::Icupmatn e lenming strategies should be adopted to snzure larger participation and sharing of

leaming ountcomes, [t is advised that biographical narratives of scientists and inventors can be used, You
should keep m mind that eforts should be continued for development of the process skills of science.

Which among the following objectives belongs to 'creating' copmitive process domam?
1. making a sunple torch
2. explamming how a bulb glows
3. selecting suitable call for torch

4, T.n&i-:ai‘i.ug direction of How of currents

Options :

485584146513. 1
485584146514.2
485584146515. 3
485584146516. 4

Question Number : 295 Question Id : 48558436630 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl




At the wpper primary level, the emphasis 15 on engaming the learner in leaming principles of science through
famniliar expenences. working with hands to design sunple technological umits and modules and continning to

learn more on environment and heakth through activities and swrveys.

Asa serence teacher, vou will agree that scicotific concepts are leamt batter if leamers explore them tlroueh
sctivitics and expernnents. Leamners should be given opportumity to explore science m their everyday
experiences. You should engags leamners (preferably in groups) in meaningful investipations - particnlarly of
the problenis they perceive to be significant snd nnpartant.

As a selence teacher, you should encourage discussions wath the tercher and peers, You can ask your leamers
to pather information from newspapers. knowledeeable persons in the neighborhood. and from easily available
sources and diseuss about them m class with pesrs and teachers.

Raole play. shkats. -::Icupmatn e lenming strategies should be adopted to snzure larger participation and sharing of

leaming ountcomes, [t is advised that biographical narratives of scientists and inventors can be used, You
should keep m mind that eforts should be continued for development of the process skills of science.

Which among the followmg 15 a teacher-centered olyective?

1. Chaldren: identify different types of nutrition i plants.

| )

. Children explain varions methods of gefting mitrition in plants

. Tenchers show unages of autotrophae and heterotroplne nutrition

T

4, Teachers explaim the detinition of nutntion and males students memaorize 1t
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The spider’s wel occupies a much larger space than does the animal itself. The web represents the spider's
fichd of action n acting as a frap for msects. 1t 1s constructed according to a plan, A thread secreied by the
spider joins taco branches, two rocks. two supports of any kind: then he weaves the rays. The construction
proceeds according to a plan. Finally the spider weaves the thread around the center, zoing aronnd at an
always very carcfully calculated distance. If the points of support arc close together, the web is small. The
greater the distance of one from the other. the larger the web will be. But it wall abways be woven with the
SAIIE EXNACINESS ACCOrdmy 10 4 preciss plamn.

A is the web. so is the mwind of the ¢hild construeted according to an exact plan, The absiract construction
enables him to grasp what happens m his field, which was ont of his range hevetofore

Depending on whether the child lives in a sinple eevilisation or in a complicated world. hiz web will be more
or less large amd will enable bsm o attain more or fewer olyectives

Thas 15 why we must respeet the mnterior construction and s mamfastanons, wineh may at times seem nseless
ta us. The construction 15 necessary. It 12 thanks to this work that the child enlarges his psychic field and
subsequently his receptive powers.

To consider the school as the place where instriction 15 given 18 one point of view. But to consder the school
as a preparation for life 1s another. In the latter case the school must satisfy all the needs of life

An education that suppresses the true nature of the child 15 an education that leads to the development of
anomalies.

Sconting, whicl, outside of school, lias bronght an oreamsed] form of Life to children, has therefore abways
mberested vs

According fo the passaze, what 15 the stemficance of a spader’s web to a child's education?

1. Edueation must be spread out 1o all domens,

-'

2. Ficld-based learming 1= a crucial aspect of educstion.
i. The administrative web poses an mpeadiment to sducation.

4, A chuld's mumd 15 also consticted like a web.

Options :
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The spider’s wel occupies a much larger space than does the animal itself. The web represents the spider's
fiehd of action n acting as a frap for msects. 1t s constructed according to a plan, A thread secreted by the
spider joins taco branches, two rocks. two supports of any kind: then he weaves the rays. The construction
proceeds according to a plan. Finally the spider weaves the thread around the center, zoing aronnd at an
always very carcfully caleulated distance. If the points of support ars close together, the web is small. The
greater the distance of one from the other. the larger the web will be. But it wall abways be woven with the
sAIle EXACINEss accordmy 10 a precise plan.

A is the web. so is the mwind of the ¢hild construeted according to an exact plan, The absiract construction
enables him to grasp what happens m his field. which was ont of his range heretotore

Depending on whether the child lives in a sinple eevilisation or in a complicated world. hiz web will be more
or less large and will enable bsm o attan more or fewer olyectives

Thas 15 why we must respeet the interior construction and s mamfastanons, wineh may at times seem nseless
ta us. The construction 15 necessary. It 12 thanks to this work that the child enlarges his psychic field and
subsequently his receptive powers.

To consider the school as the place where instriction 15 given 18 one point of view. But to consder the school
as a preparation for life 1s another. In the latter case the school must satisfy all the needs of life

An education that suppresses the true nature of the child 15 an education that leads to the development of
anomalies.

Scontimg, which, ontside of school, lias brought an orgamsed form of life to children. has therefore abways
nierested ns

Conshuction of chald's mund 1s:

1. Independent of his context

| )

dependent on schooal’s context onky

T

. dependent on las context
4. dependent on lus family's context only

Options :
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The spider’s wel occupies a much larger space than does the animal itself. The web represents the spider's
fichd of action n acting as a frap for msects. 1t 1s constructed according to a plan, A thread secreied by the
spider joins taco branches, two rocks. two supports of any kind: then he weaves the rays. The construction
proceeds according to a plan. Finally the spider weaves the thread around the center, zoing aronnd at an

always very carcfully calculated distance. If the points of support arc close together, the web is small. The
greater the distance of one from the other. the larger the web will be. But it wall abways be woven with the

SAIIE EXNACINESS ACCOrdmy 10 4 preciss plamn.

A is the web. so is the mwind of the ¢hild construeted according to an exact plan, The absiract construction
enables him to grasp what happens m his field, which was ont of his range hevetofore

Depending on whether the child lives in a sinple eevilisation or in a complicated world. hiz web will be more
or less large amd will enable bsm o attain more or fewer olyectives

T':I!:I-‘i 4 'I."-'l.'l.}' W st 1'&5[JEI:1 T]l'E miterior eonstmoetion and s 1.'I.'Li'l.1|1f9'-!:iia"ITll.'l"['L':'. winech Ay at henes seammn nselesy
ta us. The construction 15 necessary. It 12 thanks to this work that the child enlarges his psychic field and
subsequently his receptive powers.

To consider the school as the place where instriction 15 given 18 one point of view. But to consder the school
as a preparation for life 1s another. In the latter case the school must satisfy all the needs of life

An education that suppresses the true nature of the child 15 an education that leads to the development of
anomalies.

Sconting, whicl, outside of school, lias bronght an oreamsed] form of Life to children, has therefore abways
mberested vs

According to the passage, what should be the aimmn of education?

1. Nurture the true nature of a cluld,

| )

. Orvzvpover the mterior construction of a child's mund.

T

. Restrict a eluld's peyehae field and promote sgmentific temperament,
4. Provide mstrustion and snable the child's participation in the sconomy.

Options :
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The spider’s wel occupies a much larger space than does the animal itself. The web represents the spider's
fichd of action n acting as a frap for msects. 1t 1s constructed according to a plan, A thread secreied by the
spider joins taco branches, two rocks. two supports of any kind: then he weaves the rays. The construction
proceeds according to a plan. Finally the spider weaves the thread around the center, zoing aronnd at an

always very carcfully calculated distance. If the points of support arc close together, the web is small. The
greater the distance of one from the other. the larger the web will be. But it wall abways be woven with the

SAIIE EXNACINESS ACCOrdmy 10 4 preciss plamn.

A is the web. so is the mwind of the ¢hild construeted according to an exact plan, The absiract construction
enables him to grasp what happens m his field, which was ont of his range hevetofore

Depending on whether the child lives in a sinple eevilisation or in a complicated world. hiz web will be more
or less large amd will enable bsm o attain more or fewer olyectives

Thas 15 why we must respeet the mnterior construction and s mamfastanons, wineh may at times seem nseless
ta us. The construction 15 necessary. It 12 thanks to this work that the child enlarges his psychic field and
subsequently his receptive powers.

To consider the school as the place where instriction 15 given 18 one point of view. But to consder the school
as a preparation for life 1s another. In the latter case the school must satisfy all the needs of life

An education that suppresses the true nature of the child 15 an education that leads to the development of
anomalies.

Sconting, whicl, outside of school, lias bronght an oreamsed] form of Life to children, has therefore abways
mberested vs

In the anthor's view, what does a limited perspective of education do to a chald?

1. Euables him te grasp concepts casily.

| )

. Helps him to attam more objectives.

T

. Suppresses his true nature,

4. Encowrages his thinkang abilities.

Options :
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The spider’s web occupies a much larger space than does the animal itself. The web represents the spider's
fichd of action n acting as a frap for msects. 1t 1s constructed according to a plan, A thread secreied by the
spider joins taco branches, two rocks. two supports of any kind: then he weaves the rays. The construction
proceeds according to a plan. Finally the spider weaves the thread around the center, zoing aronnd at an
always very carcfully calculated distance. If the points of support arc close together, the web is small. The
greater the distance of ane from the other. the larger the web will be. But it wall abarays be woven with the
SAIIE EXNACINESS ACCOrdmy 10 4 preciss plamn.

A is the web. so is the mwind of the ¢hild construeted according to an exact plan, The absiract construction
enables him to grasp what happens m his field, which was ont of his range hevetofore

Depending on whether the child lives in a sinple eevilisation or in a complicated world. hiz web will be more
or less large amd will enable bsm o attain more or fewer olyectives

Thas s why we must respeet the imterior construction and s mamfestations, winch may at times seem nseless
ta us. The construction 15 necessary. It 12 thanks to this work that the child enlarges his psychic field and
subsequently his receptive powers.

To consider the school as the place where instriction 15 given 18 one point of view. But to consder the school
as a preparation for life 1s another. In the latter case the school must satisfy all the needs of life

An education that suppresses the true nature of the child 15 an education that leads to the development of
anomalies.

Sconting, whicl, outside of school, lias bronght an oreamsed] form of Life to children, has therefore abways
iterested vs.

Which of the following are charactenstics of the constiuction of a chald's mined 7

A, Moving outside the school restricts a chald's mumdd.

B. A child's mind 15 constructed according to a precize plan

C. Ovganisation of a child’s mand may affeci its receptive abihities.

[ Inhibiting a child's true nature can lead to the development of abnormalsty.
E. Conciete constraction enables it to access different kinds of knowledge.

Choose the correct answer from the options given below:
1. A. € and D only
2. A B and C only
3. B. Cand D only

4.B.C.Dand E only

Options :

485584146537. 1
485584146538. 2
485584146539. 3
485584146540. 4



